BID RESULTS

AB2013-40 PAINTING WATER TANKS AT MERCER COUNTY CORRECTION CENTER

BID OPENING: AUGUST 29, 2013

CANCELLED

		BID RESULTS			
	Į.	AB2013-44 BRIDGE 214.2 AND 4-21	5.1		
	E	BID OPENING DATE: AUGUST 30, 20	013		
TOC: 365 CD, \$1000 PER DAY LD, STRUCTURAL STEEL; PERFORMANCE AND L&M PAYMENT BOND, MAINTENANCE BOND UPON ACCEPTANCE 5%, TWO YEARS; \$4000 ALLOWANCE FOR TRAFFIC CONTROL					
NUMBER OF RESPONDENTS	5				
NAME OF BIDDER	RENCOR, INC.	MARBRO, INC.	MONTANA CONSTRUCTION CORP., INC.	LOFTUS CONSTRUCTION, INC.	CROSSING CONSTRUCTION COMPANY, INC.
ADDRESS	24 TANNERY ROAD, STE. 1-B	127 PINE STREEET, PO BOX 134	80 CONTANT AVENUE	1903 TAYLOR'S LANE	P.O. BOX 88
CITY, STATE, ZIP	SOMERVILLE, NJ 08876	MONTCLAIR, NJ 07042	LODI, NJ 07644	CINNAMINSON, NJ 08077	Washington Crossing, Pa 18977
CONTACT	ERNEST E. RENDA	FRANK MARUCCI, JR.	LISA S. BALLERINI	KEVIN J. LOFTUS	MARK E. STITZ
TELEPHONE	908 534 2131	973 744 8383	973 478 5200	856 786 6607	215 493 0205
FAX	908 534 5071	973 746 5898	973 478 7604	856 786 6641	215 493 6536
E-MAIL	RENCOR@RENCORINC.NET	MAR9400@COMCAST.NET	LSANTAITE@MONTANACONSTRUCTIO NINC.COM	KLOFTUS@LOFTUSCONSTRUCTION.COM	MSTITZ@COSSINGCONST.COM
INSURANCE REQUIRED FROM AWARDED VENDOR					
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
BID GUARANTEE	HARTFORD CASUALTY INSURANCE COMPANY 10% NTE 20K	FIDELITY & DEPOSIT COMPANY OF MARYLAND 10% NTE 20K	GREAT AMERICAN INSURANCE COMPANY 10% NTE 20K	WESTERN SURETY COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	LISA NOSAL AIF WITH POA	ANTHONY L. PAOLAZZI AIF WITH POWER	Donna J. Bornemann aif with Poa	CHARLES MCCABE AIF WITH POA	ALAN R. HEIN AIF WITH POA
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	OK
EXHIBIT B	OK	OK	OK	REQUIRED IF AWARDED	REQUIRED IF AWARDED
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
EXECUTIVE ORDER 98-1	OK	OK	OK	OK	OK
PW CONTRACTOR REG.	605214 EXPIRES 5/8/15	607153 EXPIRES 6/13/14	61752 EXPIRES 5/5/14	618584 EXPIRES 12/10/14	REQUIRED IF AWARDED; 632586 EXPIRES 9/11/15
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	REQUIRED IF AWARDED
DEBARRED	NO	NO	NO	NO	NO
SAFETY CERT	OK	OK	OK	OK	OK
STRUCTURAL STEEL SUB	ARCHER STEEL CONSTRUCTION CO., INC. 60274 EXPIRES 5.23.14	IN-HOUSE	IN-HOUSE	IN-HOUSE	CORNELL & CO., INC. 603776 EXPIRES 5.1.14
FIVE YEARS EXPERIENCE AND THREE REFERENCES	INCLUDED	INCLUDED, SUNNY TO CHECK	INCLUDED	INCLUDED	INCLUDED
EQUIPMENT CERT	OK	OK	OK	OK	OK
GRAND TOTAL	#REF!	#REF!	#REF!	#REF!	#REF!
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	WILL HOLD UP TO 60 DAYS AND MAY AGREE TO LONGER, PAGE 66
EXCEPTIONS	NONE	NONE	MATH ERROR LINE 138, S/B \$288.00 NOT \$28,800.00	MATH ERROR LINE 136 S/B 676,000.00 NOT 754,000.00	NOT INCLUDED
FATAL FLAW	NO	NO	NO	NO	NO

Projec carryir	<u>Project:</u> Reconstruction of Bridge #214.2 carrying Bear Tavern Road over Jacobs Creek and #4-215.1 carrying Jacobs Creek Road over Ewing Creek inHopewell and Ewing Townships (AB2013-44)		nd #4-215.1 3-44)	1	l		2		3		4		5	
	Bids Opened: Friday August 30, 2013 at 11:00 a.m	1 <u>.</u>		REN	COR	MA	RBRO		ROR LINE 138 NTANA		ROR LINE 136 DFTUS	CR	OSSING	
	Work to be completed in: 365 Calendar Days			\$6,672,962.79 \$7,897,117.00			7,117.00	\$8,86	7,489.35	\$9,95	9,000.00	\$14,622,398.20		
Item	Description	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	
	ROADWAY PAY ITEMS													
1	MOBILIZATION	LS UNIT	1	\$700,000.00	\$700,000.00	\$775,706.15	\$775,706.15	\$450,000.00	\$450,000.00	\$475,000.00	\$475,000.00	\$1,460,000.00	\$1,460,000.00	
3	MONUMENTS PROPERTY MARKERS	UNIT	4 8	\$1,600.00 \$200.00	\$6,400.00 \$1,600.00	\$550.00 \$550.00	\$2,200.00 \$4.400.00	\$856.00 \$856.00	\$3,424.00 \$6,848.00	\$1,200.00 \$1,200.00	\$4,800.00 \$9,600.00	\$700.00 \$700.00	\$2,800.00 \$5,600.00	
4	HEAVY DUTY SILT FENCE, ORANGE	LF	4,183	\$4.00	\$16,732.00	\$5.00	\$20,915.00	\$4.90	\$20,496.70	\$11.00	\$46,013.00	\$11.00	\$46,013.00	
5	HAYBALE	UNIT	10	\$200.00	\$2,000.00	\$1.00	\$10.00	\$18.50	\$185.00	\$20.00	\$200.00	\$50.00	\$500.00	
6 7	INLET FILTER TYPE 2, 2' X 4' FLOATING TURBIDITY BARRIER. TYPE 3	UNIT	32 588	\$10.00 \$20.00	\$320.00 \$11.760.00	\$1.00 \$15.00	\$32.00 \$8.820.00	\$67.50 \$17.00	\$2,160.00 \$9,996.00	\$100.00 \$20.00	\$3,200.00 \$11,760.00	\$400.00 \$30.00	\$12,800.00 \$17.640.00	
8	DEWATERING BASIN	UNIT	3	\$500.00	\$11,760.00	\$1,000.00	\$8,820.00	\$17.00	\$5,196.00	\$20.00	\$7,500.00	\$30.00	\$17,640.00	
9	CONSTRUCTION DRIVEWAY	TON	475	\$1.00	\$475.00	\$25.00	\$11,875.00	\$26.50	\$12,587.50	\$35.00	\$16,625.00	\$150.00	\$71,250.00	
10	CONCRETE WASHOUT SYSTEM	LS	1	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$3,670.00	\$3,670.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	
11	OIL-WATER SEPERATOR OIL ONLY EMERGENCY SPILL KIT. TYPE 1	UNIT	1	\$100.00 \$50.00	\$100.00 \$100.00	\$1.00	\$1.00	\$917.00	\$917.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00 \$3.000.00	
13	OIL ONLY EMERGENCY SPILL KIT, TYPE T EROSION CONTROL SEDIMENT REMOVAL	CY	820	\$50.00 \$1.00	\$100.00	\$1.00 \$30.00	\$2.00 \$24.600.00	\$3,058.00	\$6,116.00 \$738.00	\$300.00 \$25.00	\$600.00 \$20.500.00	\$1,500.00 \$80.00	\$3,000.00	
14	INFILTRATION SAND LAYER, 48" THICK	SY	1,130	\$10.00	\$11,300.00	\$48.00	\$54,240.00	\$64.50	\$72,885.00	\$85.00	\$96,050.00	\$100.00	\$113,000.00	
15	BREAKAWAY BARRICADE	UNIT	51	\$50.00	\$2,550.00	\$100.00	\$5,100.00	\$109.00	\$5,559.00	\$100.00	\$5,100.00	\$120.00	\$6,120.00	
16	DRUM	UNIT	110	\$10.00	\$1,100.00	\$50.00	\$5,500.00	\$70.50	\$7,755.00	\$60.00	\$6,600.00	\$65.00	\$7,150.00	
17 18	TRAFFIC CONE CONSTRUCTION SIGNS	UNIT	55 2,490	\$5.00 \$9.00	\$275.00 \$22,410.00	\$25.00 \$12.00	\$1,375.00 \$29,880.00	\$19.00 \$11.00	\$1,045.00 \$27,390.00	\$15.00 \$11.00	\$825.00 \$27,390.00	\$17.00 \$13.00	\$935.00 \$32,370.00	
19	CONSTRUCTION SIGNS CONSTRUCTION IDENTIFICATION SIGN, 4' X 8'	UNIT	2,490	\$100.00	\$200.00	\$1,000.00	\$2,000.00	\$856.00	\$1,712.00	\$800.00	\$1,600.00	\$1,100.00	\$2,200.00	
20	CONSTRUCTION BARRIER CURB	LF	300	\$10.00	\$3,000.00	\$25.00	\$7,500.00	\$81.00	\$24,300.00	\$60.00	\$18,000.00	\$55.00	\$16,500.00	
21	FLASHING ARROW BOARD, 4' X 8'	UNIT	2	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$5,260.00	\$10,520.00	\$750.00	\$1,500.00	\$6,000.00	\$12,000.00	
22	Portable variable message sign Temporary Crash Cushion, inertial barrier system, 7 modules	UNIT	4	\$1,000.00 \$500.00	\$4,000.00 \$500.00	\$7,500.00 \$4,000.00	\$30,000.00 \$4,000.00	\$21,285.00 \$17,126.00	\$85,140.00 \$17,126.00	\$3,000.00 \$7,500.00	\$12,000.00 \$7,500.00	\$25,000.00 \$7,000.00	\$100,000.00 \$7,000.00	
24	TEMPORARY CRASH CUSHION, INERTIAL BARRIER SYSTEM, 7 MODULES TEMPORARY PAVEMENT MARKING TAPE, 4"	LF	770	\$500.00	\$1,116.50	\$4,000.00	\$1,155.00	\$17,126.00	\$17,126.00	\$7,500.00	\$1,540.00	\$7,000.00	\$1,116.50	
25	TEMPORARY TRAFFIC STRIPES, 4"	LF	2,519	\$0.90	\$2,267.10	\$1.00	\$2,519.00	\$1.10	\$2,770.90	\$1.00	\$2,519.00	\$0.90	\$2,267.10	
26	TEMPORARY PAVEMENT MARKINGS	SF	139	\$3.10	\$430.90	\$3.25	\$451.75	\$3.80	\$528.20	\$4.00	\$556.00	\$3.10	\$430.90	
27	TRAFFIC DIRECTOR, FLAGGER	HOURS	80	\$10.00	\$800.00	\$75.00	\$6,000.00	\$61.00	\$4,880.00	\$80.00	\$6,400.00	\$90.00	\$7,200.00	
27A 28	TRAFFIC DIRECTORS, UNIFORM POLICE WAYSIDE EXHIBIT DISPLAYS	HOURS	40 3	\$100.00 \$5,500.00	\$4,000.00 \$16,500.00	\$100.00 \$2,000.00	\$4,000.00 \$6,000.00	\$100.00 \$2.775.00	\$4,000.00 \$8,325.00	\$100.00 \$1,200.00	\$4,000.00 \$3,600.00	\$100.00 \$2,500.00	\$4,000.00 \$7,500.00	
29	BRONZE INTERPRETATIVE SIGN	UNIT	1	\$3,700.00	\$3,700.00	\$3,000.00	\$3,000.00	\$13,694.00	\$13,694.00	\$1,200.00	\$1,200.00	\$6,000.00	\$6,000.00	
30	FUEL PRICE ADJUSTMENT	DOLL.	1	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	\$9,900.00	
31	ASPHALT PRICE ADJUSTMENT	DOLL.	1	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	\$15,600.00	
32	FINAL CLEANUP CLEARING SITE	LS LS	1	\$180,000.00	\$0.00	\$175,000.00	\$0.00 \$175,000.00	\$17,544.00	\$0.00 \$17,544.00	\$150,000.00	\$0.00 \$150,000.00	\$100,000.00	\$0.00 \$100,000.00	
34	SOIL SAMPLING AND ANALYSIS, REGULATED	UNIT	10	\$1,500.00	\$15,000.00	\$1,500.00	\$15,000.00	\$17,544.00	\$17,544.00	\$1,500.00	\$15,000.00	\$1,500.00	\$15,000.00	
35	EXCAVATION, TEST PIT	CY	10	\$100.00	\$1,000.00	\$75.00	\$750.00	\$69.00	\$690.00	\$200.00	\$2,000.00	\$1,500.00	\$15,000.00	
36	EXCAVATION, UNCLASSIFIED	CY	5,507	\$12.00	\$66,084.00	\$33.00	\$181,731.00	\$29.50	\$162,456.50	\$38.00	\$209,266.00	\$60.00	\$330,420.00	
37 38	I-14 SOIL AGGREGATE (See Note 2) DENSE-GRADED AGGREGATE BASE COURSE, 8" THICK	CY SY	5,507 5,028	\$1.00 \$5.00	\$5,507.00 \$25,140.00	\$25.00 \$12.00	\$137,675.00 \$60,336.00	\$38.50 \$4.90	\$212,019.50 \$24,637.20	\$42.00 \$17.00	\$231,294.00 \$85,476.00	\$60.00 \$20.00	\$330,420.00 \$100,560.00	
39	EXCAVATION, REGULATED MATERIAL	CY	5,028	\$3.50	\$25,140.00	\$12.00	\$500.00	\$4.90	\$24,637.20 \$14,500.00	\$65.00	\$32,500.00	\$20.00	\$7,500.00	
40	HMA MILLING 3" OR LESS	SY	5,674	\$3.35	\$19,007.90	\$4.00	\$22,696.00	\$6.30	\$35,746.20	\$8.00	\$45,392.00	\$17.00	\$96,458.00	
41	POLYMERIZED JOINT ADHESIVE	LF	9,000	\$1.00	\$9,000.00	\$0.75	\$6,750.00	\$1.20	\$10,800.00	\$1.00	\$9,000.00	\$6.00	\$54,000.00	
42	HOT MIX ASPHALT 12.5M76 SURFACE COURSE HOT MIX ASPHALT 25M64 BASE COURSE	TON	1,195	\$89.00 \$81.00	\$106,355.00	\$93.00 \$90.00	\$111,135.00	\$116.00 \$101.00	\$138,620.00	\$115.00	\$137,425.00 \$313,100.00	\$95.00 \$100.00	\$113,525.00 \$313,100.00	
43	HOT MIX ASPHALT 25M64 BASE COURSE LANDSCAPE WALL	SF	3,131 320	\$30.00	\$253,611.00 \$9,600.00	\$90.00	\$281,790.00 \$17,600.00	\$101.00	\$316,231.00 \$13,280.00	\$100.00 \$50.00	\$313,100.00 \$16,000.00	\$100.00	\$313,100.00	
45	15" REINFORCED CONCRETE PIPE	LF	944	\$35.00	\$33,040.00	\$45.00	\$42,480.00	\$52.00	\$49,088.00	\$80.00	\$75,520.00	\$125.00	\$118,000.00	
46	18" REINFORCED CONCRETE PIPE	LF	136	\$41.00	\$5,576.00	\$55.00	\$7,480.00	\$53.00	\$7,208.00	\$85.00	\$11,560.00	\$165.00	\$22,440.00	
47	24" REINFORCED CONCRETE PIPE	LF	716	\$45.00	\$32,220.00	\$65.00	\$46,540.00	\$61.00	\$43,676.00	\$130.00	\$93,080.00	\$185.00	\$132,460.00	
48 49	15" REINFORCED CONCRETE END SECTION 18" REINFORCED CONCRETE END SECTION	UNIT	1	\$500.00 \$500.00	\$1,000.00 \$500.00	\$1,200.00 \$2,000.00	\$2,400.00 \$2,000.00	\$599.00 \$599.00	\$1,198.00 \$599.00	\$750.00 \$1,000.00	\$1,500.00 \$1,000.00	\$3,500.00 \$4,000.00	\$7,000.00 \$4.000.00	
50	24" REINFORCED CONCRETE END SECTION	UNIT	1	\$500.00	\$500.00	\$2,800.00	\$2,800.00	\$832.00	\$832.00	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00	
51	INLET, TYPE B	UNIT	11	\$850.00	\$9,350.00	\$3,100.00	\$34,100.00	\$2,541.00	\$27,951.00	\$3,000.00	\$33,000.00	\$9,000.00	\$99,000.00	
52	INLET, TYPE E	UNIT	14	\$750.00	\$10,500.00	\$3,100.00	\$43,400.00	\$3,493.00	\$48,902.00	\$3,300.00	\$46,200.00	\$10,000.00	\$140,000.00	
53 54	INLET, TYPE DOUBLE E MANHOLF 4' DIAMFTER	UNIT	6	\$2,000.00	\$2,000.00 \$12.000.00	\$5,200.00 \$3,000.00	\$5,200.00 \$18,000.00	\$4,931.00 \$3,183.00	\$4,931.00 \$19.098.00	\$6,500.00 \$2,200.00	\$6,500.00 \$13,200.00	\$20,000.00	\$20,000.00 \$48,000.00	
55	OUTLET CONTROL STRUCTURE	UNIT	2	\$3,300.00	\$6,600.00	\$7,500.00	\$15,000.00	\$8,843.00	\$17,686.00	\$10,000.00	\$20,000.00	\$12,000.00	\$24,000.00	
55A	MANUFACTURED TREATMENT DEVICE	UNIT	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$43,142.00	\$43,142.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	

Item Description Unit Quantity Unit Price Extended Price Unit Price Unit Price Extended Price Unit Price	00 \$2,475.00 00 \$1,000.00 00 \$2,700.00 00 \$28,280.00 00 \$9,630.00 00 \$9,630.00 00 \$9,630.00 00 \$75,147.00 00 \$25,578.00	Unit Price 0 \$100.00 0 \$120.00 0 \$200.00 0 \$130.00 0 \$500.00 0 \$15.00 0 \$60.00	22,398.20 Extended Price \$1,800.00 \$3,960.00 \$800.00 \$101,000.00 \$9,630.00
56 RIPRAP STONE CHANNEL PROTECTION, 12" THICK (D50-6') SY 18 \$150.00 \$2,700.00 \$137.00 \$2,466.00 \$107.00 \$1,926.00 \$75.	00 \$1,350.00 00 \$2,475.00 00 \$1,000.00 00 \$2,700.00 00 \$28,280.00 00 \$9,630.00 00 \$9,840.00 00 \$75,147.00 00 \$25,578.00	\$100.00 0 \$120.00 0 \$200.00 0 \$130.00 0 \$500.00 0 \$15.00 0 \$60.00	\$1,800.00 \$3,960.00 \$800.00 \$2,340.00 \$101,000.00 \$9,630.00
57 RIPRAP STONE CHANNEL PROTECTION, VARIABLE THICKNESS (D50-9°) CY 33 \$160.00 \$5,280.00 \$137.00 \$4,521.00 \$138.00 \$4,554.00 \$75 58 RIPRAP STONE SCOUR PROTECTION, VARIABLE THICKNESS (D50-6°) CY 4 \$550.00 \$2,200.00 \$137.00 \$548.00 \$178.00 \$712.00 \$250. 59 OUTFALL SCOUR HOLE SY 18 \$150.00 \$2,700.00 \$137.00 \$2,466.00 \$490.00 \$882.00 \$150.00 60 GABION MATTRESS CY 202 \$100.00 \$20,200.00 \$415.00 \$83,830.00 \$493.00 \$99,586.00 \$140. 61 POST AND RAIL FENCE LF 642 \$10.00 \$6,420.00 \$15.00 \$9,630.00 \$17.50 \$11,235.00 \$15.00 62 CONCRETE SIDEWALK, 4"THICK SY 393 \$25.00 \$9,825.00 \$50.00 \$19,650.00 \$90.950.00 \$19,650.00 \$90.950.00 \$19,650.00 \$90.950.00 \$19,650.00 \$19,650.00 \$10.00 \$10.00 \$10.00	00 \$2,475.00 00 \$1,000.00 00 \$2,700.00 00 \$28,280.00 00 \$9,630.00 00 \$31,440.00 00 \$9,840.00 00 \$75,147.00 00 \$25,578.00	0 \$120.00 0 \$200.00 0 \$130.00 0 \$500.00 0 \$15.00 0 \$60.00	\$3,960.00 \$800.00 \$2,340.00 \$101,000.00 \$9,630.00
58 RIPRAP STONE SCOUR PROTECTION, VARIABLE THICKNESS (D50-6') CY 4 \$550.00 \$2,200.00 \$137.00 \$548.00 \$178.00 \$250. 59 OUTFALL SCOUR HOLE SY 18 \$150.00 \$2,700.00 \$137.00 \$2,466.00 \$49.00 \$882.00 \$150.00 60 GABION MAITRESS CY 202 \$100.00 \$20,200.00 \$415.00 \$83,830.00 \$493.00 \$99,586.00 \$140.00 61 POST AND RAIL FENCE LF 642 \$10.00 \$6,420.00 \$15.00 \$9,630.00 \$117.50 \$11.235.00 \$11.235.00 \$11.235.00 \$11.250.00 \$60.00 \$10.00 \$6,420.00 \$19,650.00 \$10.00 \$6.00 \$60.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00 \$6.00 \$10.00<	00 \$1,000.00 00 \$2,700.00 00 \$28,280.00 00 \$9,630.00 00 \$31,440.00 00 \$9,840.00 00 \$75,147.00 00 \$25,578.00	0 \$200.00 0 \$130.00 0 \$500.00 0 \$15.00 0 \$60.00	\$800.00 \$2,340.00 \$101,000.00 \$9,630.00
59 OUTFALL SCOUR HOLE SY 18 \$150.00 \$2,700.00 \$137.00 \$2,466.00 \$49.00 \$882.00 \$150.00 60 GABION MATRESS CY 202 \$100.00 \$20,200.00 \$415.00 \$83,830.00 \$493.00 \$99,866.00 \$140.00 61 POST AND RAIL FENCE LF 642 \$10.00 \$6,420.00 \$15.00 \$96,300.00 \$17.50 \$112.35 \$112.35 \$0.35 \$112.35	00 \$2,700.0 00 \$28,280.0 00 \$9,630.0 00 \$31,440.0 00 \$9,840.0 00 \$75,147.0 00 \$25,578.0	\$130.00 \$500.00 \$15.00 \$60.00	\$2,340.00 \$101,000.00 \$9,630.00
60 GABION MATTRESS CY 202 \$100.00 \$20,200.00 \$415.00 \$83,830.00 \$493.00 \$99,586.00 \$140.00 61 POST AND RAIL FENCE LF 642 \$10.00 \$6,420.00 \$15.00 \$9,630.00 \$17.50 \$11,235.00 \$15.00 62 CONCRETE SIDEWALK, 4" THICK SY 393 \$25.00 \$9,825.00 \$50.00 \$19,650.00 \$50.00 \$19,650.00 \$80.	\$28,280.00 \$9,630.00 \$00 \$31,440.00 \$00 \$75,147.00 \$00 \$25,578.00	\$500.00 \$15.00 \$60.00	\$101,000.00 \$9,630.00
62 CONCRETE SIDEWALK, 4"THICK SY 393 \$25.00 \$9.825.00 \$50.00 \$19,650.00 \$50.00 \$19,650.00 \$80.	00 \$31,440.00 00 \$9,840.00 00 \$75,147.00 00 \$25,578.00	\$60.00	
	9,840.00 \$75,147.00 \$25,578.00		#22 F00 00
	00 \$75,147.0 00 \$25,578.0	\$65.00	\$23,580.00
63 HOT MIX ASPHALT DRIVEWAY, 6'THICK SY 205 \$45.00 \$9.225.00 \$55.00 \$11.275.00 \$55.00 \$11.275.00 \$48.	00 \$25,578.0	¢ = = 00	\$13,325.00
64 9'X18' CONCRETE VERTICAL CURB LF 2,031 \$17.00 \$34,527.00 \$18.00 \$36,558.00 \$30.50 \$61,945.50 \$37. 65 NONVEGATATIVE SURFACE, HOT MIX ASPHALT SY 609 \$26.00 \$15,834.00 \$26.00 \$15,834.00 \$43.00 \$26,187.00 \$42.			\$111,705.00 \$15,834.00
66 BEAM GUIDE RAIL, POWDER COATED LF 772 \$37.00 \$28,654.00 \$37,042.00 \$48.50 \$37,42.00 \$40.	0.088,08		\$28,564.00
67 FLARED GUIDE RAIL TERMINAL, POWDER COATED UNIT 2 \$3,500.00 \$7,000.00 \$3,500.00 \$7,000.00 \$3,195.00 \$6,390.00 \$3,600.			\$7,000.00
68 TANGENT GUIDE RAIL TERMINAL, POWDER COATED UNIT 2 \$3,975.00 \$7,950.00 \$4,000.00 \$8,000.00 \$3,195.00 \$6,390.00 \$4,100.			\$7,950.00
69 BEAM GUIDE RAIL ANCHORAGE, POWDER COATED UNIT 2 \$1,100.00 \$2,200.00 \$1,100.00 \$2,200.00 \$1,052.00 \$2,104.00 \$1,200.			\$2,200.00
70 TRAFFIC STRIPES, LONG LIFE EPOXY RESIN 4" LF 11,715 \$0.30 \$3,514.50 \$0.40 \$4,686.00 \$0.35 \$4,100.25 \$0. 71 TRAFFIC MARKINGS, THERMOPLASTIC SF 242 \$4.60 \$1,113.20 \$5.00 \$1,210.00 \$5.60 \$1,355.20 \$6.			\$3,514.50 \$1,113.20
71 RPM, MONO-DIRECTIONAL, WHITE LENS UNIT 25 \$32.20 \$805.00 \$33.00 \$39.50 \$987.50 \$40.			\$805.00
73 RPM, MONO-DIRECTIONAL, AMBER LENS UNIT 30 \$32.20 \$966.00 \$33.00 \$990.00 \$39.50 \$1,185.00 \$40.			\$966.00
74 RPM, BI-DIRECTIONAL, AMBER LENS UNIT 30 \$32.20 \$966.00 \$33.00 \$990.00 \$39.50 \$1,185.00 \$40.	00 \$1,200.0	\$32.20	\$966.00
75 CRASH CUSHION, QUADGUARD, 3 BAYS, 24" WIDE UNIT 2 \$22,000.00 \$44,000.00 \$21,000.00 \$42,000.00 \$11,744.00 \$23,488.00 \$25,000.			\$33,130.00
76 REGULATORY AND WARNING SIGN SF 351 \$10.00 \$3,510.00 \$26.00 \$9,126.00 \$36.50 \$12,811.50 \$30. 77 SELECTIVE CLEARING ACRE 0 \$15,000.00 \$1,500.00 \$75,000.00 \$75,000.00 \$175,437.00 \$17,543.70 \$20.000.			\$10,881.00
77 SELECTIVE CLEARING ACRE 0 \$15,000.00 \$1,500.00 \$75,000.00 \$175,437.00 \$17,5437.00 \$20,000. 78 TOPSOILING, 4"THICK SY 5,933 \$1.65 \$9,789.45 \$1.70 \$10,086.10 \$6.10 \$36,191.30 \$5.			\$3,000.00 \$47,464.00
79 TOPSOLING, 6 THICK SY 970 \$2.15 \$2,085.50 \$2.25 \$2,182.50 \$8.60 \$8,342.00 \$8.8			\$9,700.00
80 BORROW TOPSOIL CY 550 \$35.00 \$19,250.00 \$36.00 \$19,800.00 \$30.50 \$16,775.00 \$40.			\$22,000.00
81 FERTILIZING AND SEEDING, TYPE A-3 SY 6,272 \$0.48 \$3,010.56 \$0.50 \$3,136.00 \$1.20 \$7,526.40 \$0.			\$6,272.00
82 FERTILIZING AND SEEDING, TYPE S SY 1,812 \$0.48 \$869.76 \$0.50 \$906.00 \$1.20 \$2,174.40 \$1.			\$1,812.00
83 TOPSOIL STABILIZATION MATTING, TYPE 1 SY 829 \$3.50 \$2,901.50 \$4.00 \$3.316.00 \$3.10 \$2,569.90 \$4.			\$3,316.00
84 STRAW MULCHING SY 6,904 \$0.48 \$3,313.92 \$0.50 \$3,452.00 \$1.20 \$8,284.80 \$1. 85 VEGETATED STONE REVEIMENT SY 27 \$100.00 \$2,700.00 \$150.00 \$4,050.00 \$6.10 \$164.70 \$175.			\$34,520.00 \$2,700.00
86 RED MARIE - ACER RUBRUM, 1-2 IN. CAL /6-10 FT. TALL UNIT 18 \$295.00 \$5,310.00 \$295.00 \$428.00 \$7,704.00 \$225.			\$5,400.00
87 RED OAK - QUERCUS RUBRA, 1-2 IN. CAL/6-10 FT. TALL UNIT 19 \$295.00 \$5,605.00 \$295.00 \$5,605.00 \$428.00 \$8,132.00 \$225.			\$5,700.00
88 ARROWWOOD - VIBURNUM DENTATUM, #2 CONTAINER UNIT 19 \$35.00 \$665.00 \$35.00 \$665.00 \$30.50 \$579.50 \$30.			\$1,900.00
89 SPICE BUSH - LINDERA BENZOIN, #2 CONTAINER UNIT 17 \$35.00 \$595.00 \$35.00 \$595.00 \$30.50 \$518.50 \$30.			\$1,700.00
90 RED OSIER DOGWOOD - CORNUS SERICEA, LIVE STAKES UNIT 25 \$25.00 \$625.00 \$25.00 \$625.00 \$24.50 \$612.50 \$40. 91 BLACK WILLOW - SALIX NIGRA, LIVE STAKES UNIT 25 \$25.00 \$625.00 \$25.00 \$24.50 \$40.			\$1,250.00 \$1,250.00
71 BACK MIGRATION MONITORING US 1 \$1,000.00 \$10,000.00 \$3,058.00 \$3,058.00 \$3,058.00 \$15,000.00			\$5,000.00
93 RESET GAS VALVE BOX UNIT 1 \$100.00 \$100.00 \$500.00 \$157.00 \$157.00 \$300.			\$500.00
94 RESET WATER VALVE BOX UNIT 7 \$100.00 \$700.00 \$125.00 \$875.00 \$1,099.00 \$300.			\$3,500.00
95 WATER MAIN RELOCATION LS 1 \$28,000.00 \$25,000.00 \$25,000.00 \$31,465.00 \$31,465.00 \$50,000.	00 \$50,000.0	\$100,000.00	\$100,000.00
BRIDGE ITEMS	00 \$30,000.0	\$10,000.00	\$10,000.00
90 VIRICATION MUNICIPILIZATION MUNICIPILIZATION LS 1 53,000.00 \$17,300.00 \$17,300.00 \$3,161.00 \$30,000.	30,000.0	\$10,000.00	\$10,000.00
97 CLEARING SITE, BRIDGE (4-215.1) LS 1 \$120,000.00 \$120,000.00 \$50,000.00 \$117,152.00 \$117,152.00 \$350,000.	00 \$350,000.0	\$60,000.00	\$60,000.00
98 TEMPORARY SHIELDING LS 1 \$1,000.00 \$1,000 \$1.00 \$28,253.00 \$28,253.00 \$30,000.	00 \$30,000.0	\$40,000.00	\$40,000.00
99 EXCAVATION, UNCLASSIFIED CY 1,980 \$16.00 \$31,680.00 \$28.00 \$55,440.00 \$29.50 \$58,410.00 \$50.	4,		\$108,900.00
100 COURSE AGGREGATE, SIZE NO.57 CY 897 \$21.00 \$18,837.00 \$32.00 \$28,704.00 \$50.50 \$45,298.50 \$55.			\$58,305.00
101 TEMPORARY SHEETING LEFT-IN-PLACE SF 6,000 \$0.01 \$60.00 \$0.01 \$60.00 \$15.00 \$90,000.00 \$0. 102 TEMPORARY COFFERDAM LS 1 \$187,000.00 \$187,000.00 \$150,000.00 \$81,931.00 \$81,931.00 \$50,000.			\$270,000.00 \$250.000.00
103 REINFORCEMENT STEEL, GALVANIZED LB 111,100 \$1.57 \$174,427.00 \$1.55 \$172,205.00 \$2.20 \$244,420.00 \$2.			\$177,760.00
104 CONCRETE FOOTINGS (CLASS 'B') CY 330 \$175.00 \$57,750.00 \$325.00 \$107,250.00 \$435.00 \$143,550.00 \$390.			\$115,500.00
105 CONCRETE WINGWALLS (CLASS 'B') CY 341 \$225.00 \$76,725.00 \$600.00 \$204,600.00 \$673.00 \$229,493.00 \$750.			\$375,100.00
106 CONCRETE PEDESTAL (CLASS 'B') CY 88 \$300.00 \$26,400.00 \$500.00 \$44,000.00 \$517.00 \$45,496.00 \$600.			\$66,000.00
107 BRIDGE PLAQUE UNIT 1 \$2,700.00 \$2,000.00 \$2,000.00 \$3,466.00 \$3,466.00 \$2,000. 108 PRECAST CONCRETE ARCH STRUCTURE LF 44 \$4,000.00 \$176,000.00 \$5,100.00 \$224,400.00 \$5,823.00 \$256,212.00 \$7,000.			\$2,000.00 \$198,000.00
109 PREVAST CONCRETE AND STORE 1. 14 4 53,000.00 35,100.00 32,23,00.00 35,20.00 35,20.00 35,20.00 35,20.00 35,0			\$67,155.00
110 CONCRETE BRIDGE DECK, HPC W/ FIBER CY 83 \$300.00 \$24,900.00 \$829.00 \$889.00 \$588.00 \$750.			\$62,250.00
111 CONCRETE SUPERSTRUCTURE, SIDEWALK, HPC CY 11 \$200.00 \$2,200.00 \$500.00 \$5500.00 \$6,050.00 \$2,000.	00 \$22,000.0	\$1,400.00	\$15,400.00
112 CONCRETE BRIDGE PARAPET WITH MOMENT SLAB, HPC W/FIBER LF 88 \$370.00 \$32,560.00 \$525.00 \$46,200.00 \$306.00 \$26,928.00 \$900.			\$68,640.00
113 CONCRETE BRIDGE, PARAPET, HPC W/ FIBER LF 226 \$150.00 \$33,900.00 \$175.00 \$39,550.00 \$30,600 \$69,156.00 \$210.00 \$30,55			\$49,720.00
114 4-BAR OPEN STEEL PARAPET LF 95 \$350.00 \$33,250.00 \$370.00 \$35,150.00 \$294.00 \$27,930.00 \$350.00 \$101,200.00 \$505.00 \$255,530.00 \$365.00 \$184,690.00 \$575.			\$47,500.00 \$708,400.00
119 STORE FACING CLEAR SEALER 5Y 506 \$10.00 \$5,060.00 \$12.00 \$9,50 \$4,807.00 \$317.			\$17,710.00
117 BLUESTONE CAP, 24'x3' LF 290 \$100.00 \$29,000.00 \$105.00 \$30,450.00 \$69.00 \$20,010.00 \$120.00			\$75,400.00

Tabulation of Bids for all Bidders

Temporary Complete					RENCOR		МА	RBRO	МО	NTANA	LC	OFTUS	CRO	OSSING
To Proceed Confidence To Proced Confidence To Proceed Confidence To Proced Confidence To Proced Confidence To Proc		Work to be completed in: 365 Calendar Days			\$6,67	2,962.79	\$7,89	7,117.00	\$8,86	7,489.35	\$9,95	9,000.00	\$14,6	22,398.20
19 COMBIGATIO STEEL REP. 17 10	Item	Description	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
	118	CHIP-SEAL OVERLAY	SY	400	\$20.00	\$8,000.00	\$95.00	\$38,000.00	\$196.00	\$78,400.00	\$175.00	\$70,000.00	\$150.00	\$60,000.00
Secretary Secr	119	8" CORRUGATED STEEL PIPE	LF	10	\$110.00	\$1,100.00	\$75.00	\$750.00	\$43.00	\$430.00	\$100.00	\$1,000.00	\$25.00	\$250.00
127 CLANGE SIE, BROCK PLY 15 1 1510 00000 1510 00000 1510 00000 150 000000 150 00000 150 00000 150 00000 150 000000 150 000000 150 000000 150 00	120	8" CORRUGATED STEEL UNDERDRAIN PIPE	LF	230	\$20.00	\$4,600.00	\$35.00	\$8,050.00	\$38.50	\$8,855.00	\$30.00	\$6,900.00	\$30.00	\$6,900.00
12 EXCAMPRIS MUCKUSETED C.Y. 1,500 1		Jacobs Creek Bridge (County Bridge #214.2):												
122 EXCAMINIST MICHANFED CY 1.690 \$110.00 \$110.00 \$130.00 \$137.00 \$190.00 \$55.00 \$55.000 \$55	121	CLEARING SITE, BRIDGE (214.2)		1	\$159,000.00	\$159,000.00	\$50,000.00	\$50,000.00						\$30,000.00
194 COURSE PROMOTION CY S21 1300 S01 S11,000 S02 S11,000 S02 S11,000 S00 S11,000 S00 S11,000 S00 S11,000 S00 S11,000 S00 S11,000 S00 S11,000 S10,000 S00 S11,000 S10,000 S	122	TEMPORARY SHIELDING		1	\$2,000.00	\$2,000.00	\$1.00	\$1.00	\$28,253.00	\$28,253.00	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00
155 INDEPENDENT IN PRICE 97 3,300 501 513.00 550.000 519.000	123	EXCAVATION, UNCLASSIFIED	CY	1,650	\$11.00	\$18,150.00	\$37.50	\$61,875.00	\$29.50	\$48,675.00	\$30.00	\$49,500.00	\$55.00	\$90,750.00
100 100														
177 REPORT OF CLAY STEEL CALL VANIETID 18 110,000 13 15 172,700.00 13 13 13 13 13 13 13		TEMPORARY SHEETING LEFT-IN-PLACE		1,300										
1981 CONCRETE FOOTBOOKS (LEASE 9T)														
129 CONCRET WINGWALL (CLASS P)														
100 100	128	CONCRETE FOOTINGS (CLASS 'B')												
131 CONCRETT REJUMENT VIALL (CLASS 9T) C.Y. 374 S210.00 578,540.00 519.00 519.00 519.00 52,000.00 519.00.00 519.00.00 52,000				182										
132 ENDOY WATERPROCENING	130	CONCRETE HEADER, HPC W/FIBER	CY	8	\$200.00	\$1,600.00	\$900.00	\$7,200.00	\$1,013.00	\$8,104.00	\$1,000.00	\$8,000.00	\$2,500.00	\$20,000.00
133 BIDGER PACUE														
134 INSERPRETAINE BROWNE RADGE UNIT 2 \$3,0000 \$4,0000 \$3,0000				50										
135 SIRUCIUMA BEARING ASSIMENT UNIT 14 \$15,500.00 \$49,000.00 \$2,700.00 \$33,000.00 \$34,000.00 \$3,150.00 \$34,000.00 \$3,150.00				1										
19.5 SIRCLIMAN STELL GALVANNED URIN 3.000 \$7.000														
137 SHER CONNECTOR, CALVANIZED	135													
138 SIRP SALE EXPANSION FOR INDIT ASSEMBLY IF 90 \$330.00 \$370.000 \$310.00 \$370.000 \$310.00 \$370.000 \$310.00 \$370.000 \$310.00 \$370.000 \$310.000 \$370.000 \$310.000 \$370.														
139 CONCRETE BRIDGE PECK, PECK WIFER CY 132 \$22,000 \$379,000 \$375,000 \$375,000 \$389,000 \$389,000 \$375,000 \$3	137													
140 CONCRETE BRIDGE DECK HPC WYRBER														
141 CONCRETE BRIDGE PRADER HPC WIFBER CY 22 \$175.00 \$3.850.00 \$13.00.00 \$325.00 \$15.10.00 \$3.90.00 \$12.00.00 \$34.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00 \$31.00.00 \$325.00														
142 CONCRETE BRODEF PARAPET, HPC W/FBRR														
HAS CAPEN STEEL PRABAPET														
144 STONE FACING CIEAR SEALER														
145 SIONE FACING CIEAR SEALER SY 187 \$20.00 \$3,740.00 \$12.00 \$32,244.00 \$33.50 \$5,264.50 \$32.100 \$53.007 \$55.00.00 \$54.00.00 \$51.000 \$40.000.00 \$11.000 \$40.000.00 \$11.0														
Head Rubstone Cap 24" X 3"														
147 BLIESTONE CAP 36' X 3" 12 \$300.00 \$34,00.00 \$175.00 \$2,00.00 \$226.00 \$3,312.00 \$225.00 \$2,00.00 \$20,00.00 \$30,00.00 \$30,00.00 \$175.00 \$2,00.00 \$30,00.00 \$2,00.00 \$30,00														
149 GRANITE MONUMENTS ST. 4,100.00 \$22,000 \$11,500.00 \$35,000.00 \$20,000.00 \$40,000.00 \$40,000.00 \$140,000.0														
140 CHIP-SEAL OWERLAY														
150 B* CORRUGATED STEEL IPPE														
151 ST CORRUGATED STEEL UNDERDRAIN PIPE														
Retaining Wall A&B: CLEARING SITE, STRICCTURE (WALLS A & B)														
152 (LEARING SIE, STRUCTURE (WALLS & 8 B)	151		LF	140	\$20.00	\$2,800.00	\$22.00	\$3,080.00	\$51.50	\$7,210.00	\$30.00	\$4,200.00	\$25.00	
153 MAINTENANCE AND PROTECTION OF STREAM FLOW														
Tempor T														
155 CONCRETE PARAPET WITH MOMENT SLAB. HPC W/FIBER														
156 RETAINING WALL, LOCATION NO.A SF 1,210 \$300.00 \$363,000.00 \$215.00 \$260,150.00 \$149.00 \$180,290.00 \$260.00 \$314,600.00 \$175.00 \$221,750.00 \$221,750.00 \$221,750.00 \$227,000 \$227,500.00 \$227,000 \$227,500.00 \$22														
157 RETAINING WALL, LOCATION NO B SF 1,375 \$325.00 \$446,875.00 \$245.00 \$336,875.00 \$217.00 \$298,375.00 \$270.00 \$371,250.00 \$200.00 \$275,000.00 \$275,000.00 \$311,807.00 \$371,250.00 \$200.00 \$275,000.00 \$														
158 STONE FACING SY 303 \$200.00 \$60,600.00 \$505.00 \$153,015.00 \$369.00 \$111,807.00 \$575.00 \$174,225.00 \$1,400.00 \$424,200.00 159 STONE FACING CLEAR SEALER SY 303 \$10.00 \$3,030.00 \$12.00 \$3,636.00 \$34.00 \$10,302.00 \$21.00 \$6,363.00 \$35.00 \$320.00 160 FELDSTONE CAP, 24' X 4" 4														
159 STONE FACING CLEAR SEALER														
160 FIELDSTONE CAP, 24" X 4" LF 460 \$100.00 \$46,000.00 \$200.00 \$92,000.00 \$166.00 \$76,360.00 \$140.00 \$64,400.00 \$260.00 \$119,600.00														
161 MASONRY REPOINTING SF 150 \$1.00 \$150.00 \$25.00 \$3,750.00 \$25.00 \$3,750.00 \$30.00 \$4,500.00 \$3														
Retaining Wall C:														
162 EXCAVATION, UNCLASSIFIED CY 1,650 \$17.00 \$28,050.00 \$30.00 \$49,500.00 \$35.00 \$57,750.00 \$60.00 \$99,000.00 163 COURSE AGGREGATE, SIZE NO.57 CY 781 \$21.00 \$16,401.00 \$33.00 \$25,773.00 \$48.00 \$37,488.00 \$100.00 \$781.00 \$65.00 \$59,400.00 164 IEMPORARY SHEERING LEFT-IN-PLACE \$F 4,900 \$0.01 \$49.00 \$32.50 \$159,250.00 \$0.00 \$49.00 \$50.01 \$49.00 \$0.01 \$49.00 \$32.50 \$159,250.00 \$0.00 \$49.00 \$50.00 \$294,000.00 \$204,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 \$81,931.00 \$1.00 \$1.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 \$820,000.00 <	161		SF	150	\$1.00	\$150.00	\$25.00	\$3,750.00	\$25.00	\$3,750.00	\$30.00	\$4,500.00	\$30.00	\$4,500.00
163 COURSE AGGREGATE, SIZE NO.57 CY 781 \$21.00 \$16,401.00 \$33.00 \$25,773.00 \$48.00 \$37,488.00 \$100.00 \$78,100.00 \$65.00 \$50,765.00 164 IEMPORARY SHEFING LEFT-IN-PLACE SF 4,900 \$0.01 \$49.00 \$50.00 \$100,000.00 \$	446		01/	4.50	445	****	405	440.50	***	*******	407	453 350 11	*10	****
164 IEMPORARY SHETING LEFT-IN-PLACE SF 4,900 \$0.01 \$49.00 \$0.01 \$49.00 \$32.50 \$159,250.00 \$0.01 \$49.00 \$60.00 \$294,000.00 165 TEMPORARY COFFERDAM LS 1 \$100,000.00 \$100,000.00 \$100,000.00 \$81,931.00 \$81,931.00 \$1.00 \$820,000.00 \$820,000.00 166 4-BAR OPEN STEL PARAPET LF 200 \$315.00 \$50,000.00 \$375,000.00 \$37,400.00 \$350.00 \$70,000.00 \$500.00 \$500.00 \$100,000.00 \$64,415.00 \$37,400.00 \$350.00 \$70,000.00 \$64,300.00 \$64,415.00 \$277.00 \$509,751.00 \$500.00 \$564,300.00 \$215.00 \$404.415.00 \$277.00 \$509,751.00 \$300.00 \$564,300.00 \$475.00 \$110,000 \$575.00 \$500.00 \$365,000.00 \$365,000.00 \$300.00 \$377.00 \$300.00 \$500.00 \$300.00 \$360.00 \$300.00 \$360.00 \$360.00 \$360.00 \$360.00 \$360.00 \$360.00 \$360.00 \$360.00														
165 IEMPORARY COFFERDAM LS 1 \$100,000.00 \$100,000.00 \$100,000.00 \$81,931.00 \$81,931.00 \$1.00 \$820,000.00														
166 4-BAR OPEN STEEL PARAPET LF 200 \$315.00 \$63,000.00 \$375,000 \$73,400.00 \$350.00 \$70,000.00 \$500.00 \$500.00 \$100,000.00 167 RETAINING WALL, CAST-IN-PLACE, LOCATION NO. C SF 1.881 \$300.00 \$564,300.00 \$271.00 \$509,751.00 \$279.00 \$507,870.00 \$300.00 \$564,300.00 168 STONE FACING SY 275 \$200.00 \$555,000 \$404.00 \$111,100.00 \$575.00 \$10,000.00 \$385,000.00 169 STONE FACING SY 275 \$10.00 \$2,750.00 \$3,300.00 \$33.50 \$11,100.00 \$5,775.00 \$35.00 \$9,625.00												4		
167 RETAINING WALL, CAST-IN-PLACE, LOCATION NO. C SF 1.881 \$300.00 \$564,300.00 \$215.00 \$404,415.00 \$271.00 \$509,751.00 \$270.00 \$507,870.00 \$300.00 \$564,300.00 168 STONE FACING SY 275 \$200.00 \$55,000.00 \$475.00 \$130,625.00 \$404.00 \$111,100.00 \$575.00 \$158,125.00 \$1,400.00 \$385,000.00 169 STONE FACING CLEAR SEALER SY 275 \$10.00 \$2,750.00 \$12.00 \$3,300.00 \$33.50 \$9,212.50 \$21.00 \$5,775.00 \$35.00 \$9,625.00														
168 STONE FACING SY 275 \$200.00 \$55,000.00 \$475.00 \$130,625.00 \$404.00 \$111,100.00 \$575.00 \$158,125.00 \$1,400.00 \$385,000.00 169 STONE FACING CLEAR SEALER SY 275 \$10.00 \$2,750.00 \$12.00 \$3,300.00 \$33.50 \$9,212.50 \$21.00 \$5,775.00 \$35.00 \$9,625.00														
169 STONE FACING CLEAR SEALER SY 275 \$10.00 \$2,750.00 \$12.00 \$3,300.00 \$33.50 \$9,212.50 \$21.00 \$5,775.00 \$35.00 \$9,625.00														
Total Bid = \$6,672,962.79 Total Bid = \$7,897,117.00 Total Bid = \$8,867,489.35 Total Bid = \$9,959,000.00 Total Bid = \$14,622,398.20	169	STONE FACING CLEAR SEALER	2 Y	275										
					Total Bid =	\$6,672,962.79	Total Bid =	\$7,897,117.00	Total Bid =	\$8,867,489.35	Total Bid =	\$9,959,000.00	Total Bid =	\$14,622,398.20

BID RESULTS

AB2013-46 BRIDGE 641.1 SWEET BRIAR AVENUE CR649 OVER MIRY RUN HAMILTON TOWNSHIP

BID OPENING DATE: AUGUST 30, 2013

		ВІ	ID OPENING DATE: AUGUST 30, 2	013			
TOC: 135 CALENDAR DAYS FROM NTP, LD \$1,000.00; LABOR AND PERFORMANCE AND MATERIAL PAYMENT BOND RECUIRED, MAINTENANCE BOND UPON ACCEPTANCE 5%, 2 YEARS; STRUCTURA STEEL SUBCONTRACTOR	COMPLETE						
NUMBER OF RESPONDENTS	7						
NAME OF BIDDER	MARBRO, INC.	LUCAS BROTHERS, INC.	RENCOR, INC.	COLONNELLI BROS., INC.	SOUTH STATE, INC.	LOFTUS CONSTRUCTION, INC.	CROSSING CONSTRUCTION COMPANY, INC.
ADDRESS	127 PINE STREEET, PO BOX 134	80 AMBOY ROAD	24 TANNERY ROAD, STE. 1-B	409 SO. RIVER STREET	PO BOX 68, 202 REEVES ROAD	1903 TAYLOR'S LANE	P.O. BOX 88
CITY, STATE, ZIP	MONTCLAIR, NJ 07042	MORGANVILLE, NJ 07751	SOMERVILLE, NJ 08876	HACKENSACK, NJ 07601	BRIDGETON, NJ 08302	CINNAMINSON, NJ 08077	WASHINGTON CROSSING, PA 18977
CONTACT	FRANK MARUCCI, JR.	LUIS LUCAS	ERNEST E. RENDA	NINO COLONNELLI	CHESTER J. OTTINGER, JR.	KEVIN J. LOFTUS	MARK E. STITZ
TELEPHONE	973 744 8383	732 536 6663	908 534 2131	201 440 1118	856 451 5300	856 786 6607	215 493 0205
FAX	973 746 5898	732 536 5831	908 534 5071	201 440 8282	856 455 3461	856 786 6641	215 493 6536
E-MAIL	MAR9400@COMCAST.NET	DANIELLUCAS@LUCASBROS.COM	RENCOR@RENCORING.NET	NCOLONNELLI@COLONNELLI.COM	BWIDRICK@SOUTHSTATEINC.COM.	KLOFTUS@LOFTUSCONSTRUCTION.CO M	MSTITZ@COSSINGCONST.COM
INSURANCE REQUIRED FROM AWARDED VENDOR							
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
BID GUARANTEE	FIDELITY & DEPOSIT COMPANY OF MARYLAND 10% NTE 20K	NORTH AMERICAN SPECIALTY INSURANCE COMPANY 10% NTE 20K	HARTFORD CASUALTY INSURANCE CO., 10% NTE 20K	HUDSON INSURANCE COMPANY 10% NTE 20K	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% NTE 20K	WESTERN SURETY COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	ANTHONY L. PAOLAZZI AIF WITH POA	SANDRA A. AMORY AIF WITH POA	LISA NOSAL AIF WITH POA	LISA NOSAL AIF WITH POA	CHESTER J. OTTINGER, JR. AIF WITH POA	CHARLES MCCABE AIF WITH POA	NEIL C. DONOVAN AIF WITH POA
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	OK	OK	OK
EXHIBIT B	OK	OK	OK	OK	OK	REQUIRED IF AWARDED	REQUIRED IF AWARDED
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
EXECUTIVE ORDER 98-1	OK	OK	OK	OK	OK	OK	OK
PW CONTRACTOR REG.	607153 EXPIRES 6/13/14	61591 EXPIRES 7/16/14	605214 EXPIRES 5/8/15	606273 EXPIRES 7/18/14	51407 EXPIRES 4/10/14	618584 EXPIRES 12/10/14	REQUIRED IF AWARDED; 632586 EXPIRES 9/11/15
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK	REQUIRED IF AWARDED
DEBARRED	NO	NO	NO	NO	NO	NO	NO
SAFETY CERT	OK	OK	OK	OK	OK	OK	OK
STRUCTURAL STEEL SUB PW CONTRACTOR REG. & BRC	IN-HOUSE	IN-HOUSE	IN-HOUSE	IN-HOUSE	PHOENIX REBAR, LLC., PW 67340 EXPIRES 9/24/13, BRC OK	IN-HOUSE	PHOENIX REBAR, LLC.; PW REQUIRED IF AWARDED; 673240 EXPIRES 9/24/15; BRC REQUIRED
FIVE YEARS EXPERIENCE AND THREE REFERENCES	INCLUDED, SUNNY TO CHECK	INCLUDED, SUNNY TO CHECK	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUIPMENT CERT	OK	OK	OK	OK	OK	OK	OK
GRAND TOTAL	#REF!	#REF!	#REF	! #REF!	#REF!	#REF!	#REF!
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	WILL HOLD UP TO 60 DAYS AND MAY AGREE TO LONGER
exceptions	NONE	NONE	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	NO	NO	NO	NO	NO	NO	NO

wnshi	Reconstruction of Bridge #641.1 carrying Sweet Briar Avenue over ip (AB2013-46)	y wan in ne			1		2 ibulation of Bids		3	4	1		5		6		7
	Bids Opened: Friday August 30, 2013 at 11:00 a.m	<u>ı.</u>				18	ibulation of bids	or all bluders									
				N	IARBRO	LU	ICAS	REN	COR	COLO	NNELLI	SOUTH	I STATE	LC	OFTUS	CRC	OSSING
	Work to be completed in: 135 Calendar Days			\$1,4	137,117.00	\$1,48	5,261.20	\$1,546	,917.00	\$1,599,	441.50	\$1,648	,596.40	\$1,73	4,000.00	\$2,23	36,713.50
m	Description	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended
	ROADWAY PAY ITEMS Mobilization	L.S.	1 1	\$153,056.18	\$153,056.18	\$148,500.00	\$148,500.00	\$150,000.00	\$150,000.00	\$140,000.00	\$140,000.00	\$164,000.00	\$164,000.00	\$85,000.00	\$85,000.00	\$220,000.00	\$220
	leavy Duty Silt Fence	L.F.	1,400	\$5.00	\$7,000.00	\$3.60	\$5,040.00	\$2.00	\$2,800.00	\$4.00	\$5,600.00	\$5.00	\$7,000.00	\$6.00	\$8,400.00	\$7.00	
lr	nlet Filter, Type 1	Unit	4	\$0.01	\$0.04	\$100.00	\$400.00	\$120.00	\$480.00	\$150.00	\$600.00	\$50.00	\$200.00	\$150.00		\$700.00	S2
	loating Turbidity Barrier, Type 1	L.F. Unit	180	\$15.00 \$0.01	\$2,700.00	\$1.00 \$18.00	\$180.00 \$450.00	\$20.00 \$18.00	\$3,600.00 \$450.00	\$20.00 \$7.00	\$3,600.00 \$175.00	\$20.00	\$3,600.00	\$25.00 \$50.00	\$4,500.00 \$1,250.00	\$50.00 \$40.00) S
_	laybale Dil Only Emergency Spill Kit, Type 1	Unit	25 1	\$0.01	\$0.25 \$1.00	\$18.00	\$450.00	\$18.00	\$450.00 \$100.00	\$7.00 \$500.00	\$175.00 \$500.00	\$0.01 \$500.00	\$0.25 \$500.00	\$50.00		\$1,000.00	
	reakaway Barricade	Unit	70	\$0.01	\$0.70	\$1.00	\$70.00	\$25.00	\$1,750.00	\$25.00	\$1,750.00	\$0.01	\$0.70	\$50.00	\$3,500.00	\$95.00	
	Drum	Unit	60	\$0.01	\$0.60	\$1.00	\$60.00	\$20.00	\$1,200.00	\$45.00	\$2,700.00	\$0.01	\$0.60	\$30.00	\$1,800.00	\$55.00	
_	raffic Cone	Unit	40	\$0.01	\$0.40	\$1.00	\$40.00	\$5.00	\$200.00	\$1.00	\$40.00	\$0.01	\$0.40	\$15.00		\$13.00	
	Construction Signs Construction Barrier Curb, Type 1	S.F. L.F.	630 100	\$12.00 \$10.00	\$7,560.00 \$1,000.00	\$9.50 \$10.00	\$5,985.00 \$1,000.00	\$8.00 \$10.00	\$5,040.00 \$1,000.00	\$12.00 \$25.00	\$7,560.00 \$2,500.00	\$8.50 \$10.00	\$5,355.00 \$1.000.00	\$10.00 \$22.00	\$6,300.00 \$2,200.00	\$20.00 \$130.00	
	ortable Variable Message Sign, Solar Powered with Remote Contri	Unit	3	\$15,500.00	\$46,500.00	\$19,200.00	\$57,600.00	\$500.00	\$1,500.00	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00	\$20,000.00		\$22,000.00	
	raffic Control Truck with Mounted Crash Cushion	Unit	1	\$0.01	\$0.01	\$5,750.00	\$5,750.00	\$1,000.00	\$1,000.00	\$20,000.00	\$20,000.00	\$100.00	\$100.00	\$1.00	\$1.00	\$17,500.00	\$1
	raffic Director, Flagger	Man-Hour	50	\$57.53	\$2,876.50	\$57.53	\$2,876.50	\$57.53	\$2,876.50	\$57.53	\$2,876.50	\$57.53	\$2,876.50	\$57.53	\$2,876.50	\$57.53	3 5
	Construction Driveway Concrete Washout System	Ton L.S.	25	\$0.01 \$2.500.00	\$0.25 \$2.500.00	\$30.00 \$2.300.00	\$750.00 \$2,300.00	\$10.00 \$10,000.00	\$250.00 \$10.000.00	\$60.00 \$1.000.00	\$1,500.00 \$1,000.00	\$0.01 \$1.000.00	\$0.25 \$1,000.00	\$200.00 \$5.000.00	\$5,000.00 \$5,000.00	\$125.00 \$7.000.00	0 5
_	uel Price Adjustment	L.S.	1	\$2,500.00	\$10,000.00	\$2,300.00	\$10,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00		\$10,000.00	
P	sphalt Price Adjustment	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$
	Clearing Site (Roadway)	L.S.	1	\$10,000.00	\$10,000.00	\$97,000.00	\$97,000.00	\$175,000.00	\$175,000.00	\$125,000.00	\$125,000.00	\$10,000.00	\$10,000.00	\$30,000.00		\$15,000.00	
	xcavation, Unclassified 14 Soil Aggregate	C.Y.	440 70	\$30.00 \$15.00	\$13,200.00 \$1,050.00	\$28.30 \$16.50	\$12,452.00 \$1,155.00	\$15.00 \$20.00	\$6,600.00 \$1,400.00	\$25.00 \$45.00	\$11,000.00 \$3,150.00	\$35.00 \$0.01	\$15,400.00 \$0.70	\$55.00 \$55.00		\$65.00 \$100.00	
	14 Soll Aggregate Dense-Graded Aggregate Base Course, 8 Thick*	S.Y.	1,308	\$15.00	\$1,050.00	\$6.00	\$7,848.00	\$20.00	\$1,400.00	\$45.00	\$3,150.00	\$5.00	\$6,540.00	\$16.00		\$100.00	
H	IMA, Milling 3" or Less	S.Y.	760	\$10.00	\$7,600.00	\$3.60	\$2,736.00	\$9.00	\$6,840.00	\$6.00	\$4,560.00	\$6.00	\$4,560.00	\$12.00	\$9,120.00	\$20.00	\$
H	lot Mix Asphalt 9.5M64 Surface Course,	Ton	333	\$100.00	\$33,300.00	\$94.00	\$31,302.00	\$108.00	\$35,964.00	\$100.00	\$33,300.00	\$107.00	\$35,631.00	\$95.00	\$31,635.00	\$95.00	\$
	lot Mix Asphalt 25M64 Base Course,	Ton	811	\$87.00	\$70,557.00	\$93.00	\$75,423.00	\$93.00	\$75,423.00	\$95.00	\$77,045.00	\$79.00	\$64,069.00	\$90.00	\$72,990.00	\$112.00	
	teconstructed Inlet Type B icycle Safe Grate	Unit	4	\$600.00 \$225.00	\$2,400.00 \$900.00	\$1,000.00 \$220.00	\$4,000.00 \$880.00	\$1,300.00 \$550.00	\$5,200.00 \$2,200.00	\$3,200.00 \$650.00	\$12,800.00 \$2,600.00	\$1,400.00 \$450.00	\$5,600.00 \$1,800.00	\$750.00 \$450.00		\$2,500.00 \$750.00	
	Outfall Scour Hole	S.Y.	14	\$100.00	\$1,400.00	\$90.00	\$1,260.00	\$100.00	\$1,400.00	\$100.00	\$1,400.00	\$100.00	\$1,400.00	\$125.00		\$150.00	
lr	nlet Type B Frame	Unit	4	\$700.00	\$2,800.00	\$315.00	\$1,260.00	\$400.00	\$1,600.00	\$600.00	\$2,400.00	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00	\$1,600.00	
	Curb Piece	Unit	4	\$225.00	\$900.00	\$210.00	\$840.00	\$80.00	\$320.00	\$500.00	\$2,000.00	\$335.00	\$1,340.00	\$500.00		\$1,300.00)
	Chain-Link Fence, 4' High Chain-Link Fence, 6' High	L.F.	100 120	\$0.01 \$0.01	\$1.00 \$1.20	\$1.00 \$1.00		\$50.00 \$70.00	\$5,000.00 \$8,400.00	\$35.00 \$45.00	\$3,500.00 \$5,400.00	\$25.00 \$32.00	\$2,500.00 \$3,840.00	\$30.00 \$35.00		\$30.00 \$40.00	
	Sate, Chain-Link Fence, 20' Wide	Unit	2	\$0.01	\$0.02	\$175.00	\$350.00	\$750.00	\$1,500.00	\$2,500.00	\$5,000.00	\$1,300.00	\$2,600.00	\$2,000.00		\$1,200.00	
	X18" Concrete Vertical Curb"	L.F.	115	\$33.00	\$3,795.00	\$28.50	\$3,277.50	\$35.00	\$4,025.00	\$22.00	\$2,530.00	\$61.00	\$7,015.00	\$35.00		\$70.00	
	eam Guide Rail	L.F.	500	\$24.50	\$12,250.00	\$36.30	\$18,150.00	\$24.50	\$12,250.00	\$20.00	\$10,000.00	\$24.00	\$12,000.00	\$30.00		\$24.50	
	angent Guide Rail Terminal	Unit	1	\$2,275.00 \$21,000.00	\$9,100.00 \$21,000.00	\$2,525.00 \$20,300.00	\$10,100.00 \$20,300.00	\$2,275.00 \$19,000.00	\$9,100.00 \$19,000.00	\$1,850.00 \$2,500.00	\$7,400.00 \$2,500.00	\$2,200.00 \$15,000.00	\$8,800.00 \$15,000.00	\$2,500.00 \$22,000.00		\$2,275.00 \$22,000.00	
	Crash Cushion, Quadguard, 3 bays, 24" Wide Ionvegetative Surface, Hot Mix Asphalt	S.Y.	140	\$21,000.00 \$35.00	\$21,000.00	\$20,300.00	\$20,300.00	\$19,000.00 \$45.00	\$19,000.00	\$2,500.00	\$2,500.00	\$15,000.00 \$35.00	\$15,000.00	\$22,000.00		\$22,000.00	
	raffic Stripes, Long-Life, Epoxy Resin, 4 *	L.F.	1,650	\$1.00	\$1,650.00	\$1.30	\$2,145.00	\$1.20	\$1,980.00	\$2.00	\$3,300.00	\$1.00	\$1,650.00	\$1.00	\$1,650.00	\$1.00	
Ţ	opsoiling, 4 Thick"	S.Y.	600	\$8.00	\$4,800.00	\$6.60	\$3,960.00	\$5.00	\$3,000.00	\$6.00	\$3,600.00	\$5.00	\$3,000.00	\$5.00		\$13.00	
	ertilizing and Seeding, Type A-3	S.Y.	600	\$1.00	\$600.00	\$0.60	\$360.00	\$0.50	\$300.00	\$1.00	\$600.00	\$1.00	\$600.00	\$2.00		\$3.00	
	traw Mulching oil Sampling And Analysis, Acid Producing Soil	S.Y. Unit	600	\$1.00 \$0.01	\$600.00 \$0.06	\$0.45 \$150.00	\$270.00 \$900.00	\$0.50 \$1,000.00	\$300.00 \$6,000.00	\$1.00 \$250.00	\$600.00 \$1,500.00	\$1.00 \$150.00	\$600.00 \$900.00	\$2.00 \$500.00		\$5.00 \$1,000.00	
	xcavation, Acid Producing Soil	C.Y.	115	\$0.01	\$1.15	\$150.00	\$1,725.00	\$1,000.00	\$115.00	\$250.00	\$2,875.00	\$130.00	\$2,415.00	\$35.00		\$1,000.00	
	Disposal of Acid Producing Soil	C.Y.	115	\$0.01	\$1.15	\$25.00	\$2,875.00	\$1.00	\$115.00	\$50.00	\$5,750.00	\$30.00	\$3,450.00	\$65.00	\$7,475.00	\$35.00)
	oil Testing PL 2012 C-73	ALLOW	1	\$2,500.00	\$2,500.00	\$2,500.00		\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		\$2,500.00	
	PM, Bi-directional, White Lens	Unit	10	\$50.00	\$500.00	\$66.00	\$660.00	\$60.00	\$600.00	\$75.00	\$750.00	\$45.00	\$450.00	\$60.00		\$48.00	
	PM, Bi-directional, Amber Lens emporary Traffic Stripes, 4"	Unit I F	10 500	\$50.00 \$1.50	\$500.00 \$750.00	\$66.00 \$1.10	\$660.00 \$550.00	\$60.00 \$1.00	\$600.00 \$500.00	\$75.00 \$2.00	\$750.00 \$1,000.00	\$45.00 \$1.50	\$450.00 \$750.00	\$60.00 \$2.00		\$48.00 \$1.50	
	Ground Cover with Curlex Blanket	S.Y.	600	\$1.50	\$3,000.00	\$5.20	\$3,120.00	\$7.10	\$4,260.00	\$5.00	\$3,000.00	\$5.00	\$3,000.00	\$5.00	\$3,000.00	\$5.00	
	BRIDGE PAY ITEMS																
	Clearing Site, Bridge #641.1	L.S.	1	\$60,000.00	\$60,000.00	\$104,500.00	\$104,500.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$83,000.00	\$83,000.00	\$115,000.00	\$115,000.00	\$100,000.00	\$1
	emporary Shielding xcavation, Unclassified	L.S. C.Y.	1 825	\$1.00 \$25.00	\$1.00 \$20,625.00	\$1,000.00 \$24.30	\$1,000.00 \$20,047.50	\$38,000.00 \$15.00	\$38,000.00 \$12,375.00	\$8,000.00 \$40.00	\$8,000.00	\$10,000.00 \$10.00	\$10,000.00 \$8,250.00	\$12,000.00 \$40.00	\$12,000.00 \$33,000.00	\$60,000.00 \$40.00) \$
	9 Soil Aggregate	C.Y.	99	\$25.00	\$20,625.00	\$24.30	\$4,950.00	\$15.00	\$12,375.00	\$40.00	\$4,455.00	\$10.00	\$5,742.00	\$40.00	\$5,940.00	\$40.00) >
C	Coarse Aggregate, Size No. 57	C.Y.	53	\$27.00	\$1,431.00	\$61.00	\$3,233.00	\$75.00	\$3,975.00	\$40.00	\$2,120.00	\$80.00	\$4,240.00	\$80.00	\$4,240.00	\$62.00)
P	ermanent Sheeting	S.F.	5,200	\$27.00	\$140,400.00	\$27.50	\$143,000.00	\$0.10	\$520.00	\$30.00	\$156,000.00	\$30.00	\$156,000.00	\$28.00		\$57.00	
	urnish Equipment for Driving Piles	L.S. L.F.	99	\$125,000.00 \$0.01	\$125,000.00 \$0.99	\$180,500.00 \$24.00	\$180,500.00 \$2,376.00	\$187,000.00 \$21.00	\$187,000.00 \$2,079.00	\$15,000.00 \$25.00	\$15,000.00 \$2,475.00	\$237,000.00 \$24.00	\$237,000.00 \$2,376.00	\$92,000.00 \$30.00	\$92,000.00 \$2,970.00	\$50,000.00 \$27.00	
_	est Pile Furnished est Pile Driven	L.F.	99	\$0.01 \$0.01	\$0.99 \$0.99	\$24.00 \$15.00	\$2,376.00 \$1.485.00	\$21.00 \$0.10	\$2,079.00 \$9.90	\$25.00 \$65.00	\$2,475.00 \$6,435.00	\$24.00 \$150.00	\$2,376.00 \$14.850.00	\$30.00 \$65.00		\$27.00 \$140.00	
	Dynamic Pile Load Test	Unit	2	\$2,000.00	\$4,000.00	\$1,325.00	\$2,650.00	\$1,500.00	\$3,000.00	\$7,000.00	\$14,000.00	\$3,000.00	\$6,000.00	\$3,000.00		\$5,000.00	5
S	teel H-Pile, Furnished, HP 12 x 53	L.F.	946	\$0.01	\$9.46	\$24.00	\$22,704.00	\$21.00	\$19,866.00	\$25.00	\$23,650.00	\$24.00	\$22,704.00	\$30.00	\$28,380.00	\$27.00) \$
	teel H-Pile, Driven, HP 12 x 53	L.F.	946	\$0.01	\$9.46	\$5.00	\$4,730.00	\$0.10	\$94.60	\$25.00	\$23,650.00	\$30.00	\$28,380.00	\$25.00		\$66.00	
	teinforcement Steel teinforcement Steel, Epoxy Coated	LB LB	18,000 42,000	\$1.40 \$1.50	\$25,200.00 \$63,000.00	\$0.01 \$0.01	\$180.00 \$420.00	\$1.35 \$1.44	\$24,300.00 \$60,480.00	\$1.75 \$1.75	\$31,500.00 \$73,500.00	\$1.25 \$1.35	\$22,500.00 \$56,700.00	\$1.60 \$1.80	\$28,800.00 \$75,600.00	\$1.20 \$1.30	
	Concrete Footing	C.Y.	42,000	\$550.00	\$42,350.00	\$250.00	\$19,250.00	\$1.44	\$13,475.00	\$450.00	\$73,500.00	\$1.35	\$38,500.00	\$1.80	\$30,800.00	\$1.30	0 \$
	Concrete Wing Wall	C.Y.	28	\$0.01	\$0.28	\$250.00	\$7,000.00	\$200.00	\$5,600.00	\$1,000.00	\$28,000.00	\$700.00	\$19,600.00	\$775.00	\$21,700.00	\$700.00	5
C	Concrete Abutment Wall	C.Y.	31	\$0.01	\$0.31	\$225.00	\$6,975.00	\$300.00	\$9,300.00	\$900.00	\$27,900.00	\$700.00	\$21,700.00	\$525.00	\$16,275.00	\$1,200.00	\$
	restressed Concrete Box Beams (Type BII-48), 48" x 33	L.F	860	\$300.00	\$258,000.00	\$240.70	\$207,002.00	\$350.00	\$301,000.00	\$225.00	\$193,500.00	\$232.00	\$199,520.00	\$320.00	\$275,200.00	\$370.00	_
	Concrete Bridge Deck, HPC w/Fiber Date Panel	C.Y. Unit	110	\$600.00 \$2.000.00	\$66,000.00 \$2,000.00	\$610.30 \$2.000.00	\$67,133.00 \$2.000.00	\$200.00 \$320.00	\$22,000.00 \$320.00	\$650.00 \$1.000.00	\$71,500.00 \$1.000.00	\$750.00 \$1.000.00	\$82,500.00 \$1.000.00	\$625.00 \$1.984.50	\$68,750.00 \$1,984.50	\$900.00 \$2.000.00	
	concrete Bridge Sidewalk, HPC w/Fiber	C.Y.	14	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$320.00	\$2,800.00	\$1,000.00	\$1,000.00	\$1,000.00	\$9,800.00	\$1,984.50	\$1,984.50	\$2,000.00	
	Concrete Bridge Parapet, HPC	L.F.	22	\$375.00	\$8,250.00	\$466.00	\$10,252.00	\$500.00	\$11,000.00	\$190.00	\$4,180.00	\$550.00	\$12,100.00	\$350.00	\$7,700.00	\$400.00	0
4	-Bar Open Steel Parapet	L.F.	190	\$280.00	\$53,200.00	\$265.00	\$50,350.00	\$190.00	\$36,100.00	\$200.00	\$38,000.00	\$250.00	\$47,500.00	\$350.00	\$66,500.00	\$400.00) \$
	Concrete Sleeper Slab	L.F.	110	\$120.00	\$13,200.00	\$44.50	\$4,895.00	\$50.00	\$5,500.00	\$100.00	\$11,000.00	\$75.00	\$8,250.00	\$225.00		\$170.00	_
	Concrete Bridge Approach, HPC w/Fiber	C.Y. S.Y.	110 110	\$325.00 \$180.00	\$35,750.00 \$19,800.00	\$171.00 \$86.00	\$18,810.00 \$9,460.00	\$200.00 \$110.00	\$22,000.00 \$12,100.00	\$500.00 \$180.00	\$55,000.00 \$19.800.00	\$375.00 \$150.00	\$41,250.00 \$16,500.00	\$350.00 \$460.00	\$38,500.00 \$50,600.00	\$550.00 \$225.00	
	Concrete Bridge Relief Slab, HPC w/Fiber letaining Wall, Location No. 1	S.F.	35	\$180.00	\$19,800.00	\$86.00	\$9,460.00	\$110.00	\$12,100.00	\$180.00	\$7,000.00	\$600.00	\$16,500.00	\$460.00	\$7,875.00	\$225.00))
													,				
R	etaining Wall, Location No. 2	S.Y.	35 28	\$100.00	\$3,500.00	\$0.01	\$0.35	\$50.00	\$1,750.00	\$1.00	\$35.00	\$600.00	\$21,000.00	\$225.00	\$7,875.00	\$225.00	0

The County Engineer for the County of Mercer, State of New Jersey does hereby certify tha this is a true copy of the Bid Tabulation Sheet taken on Friday August 30, 2013 at 11:00 a.m.

date

BID RESULTS

			BID F	RESULTS				
		Al	B2013-47 BRIDGE 860.1/4-B-96 MIL	LSTOWN ROAD OVER MILLSTONE RI	IVER			
			BID OPENING DAT	TE: AUGUST 30, 2013				
TOC: 270 CALENDAR DAYS FROM NIP, LD \$1,000.00; LABOR AND PERFORMANCE AND MATERIAL PAYMENT BOND REQUIRED, MAINTENANCE BOND UPON ACCEPTANCE 5%, 2 YEARS; STRUCTURAL STEEL SUBCONTRACTOR								
NUMBER OF RESPONDENTS	8							
NAME OF BIDDER	MARBRO, INC.	RENCOR, INC.	SOUTH STATE, INC.	SPARWICK CONTRACTING INC.	MUGROSE CONSTRUCTION, INC.	MONTANA CONSTRUCTION CORP., INC.	LOFTUS CONSTRUCTION, INC.	CROSSING CONSTRUCTION COMPANY, INC.
ADDRESS	127 PINE STREEET, PO BOX 134	24 TANNERY ROAD, STE. 1-B	PO BOX 68, 202 REEVES ROAD	18 ROUTE 94	195 FARFIELD AVENUE SUITE 2C	80 CONTANT AVENUE	1903 TAYLOR'S LANE	P.O. BOX 88
CITY, STATE, ZIP	MONTCLAIR, NJ 07042	SOMERVILLE, NJ 08876	BRIDGETON, NJ 08302	LAFAYETTE, NJ 07848	WEST CALDWELL, NJ 07006	LODI, NJ 07644	CINNAMINSON, NJ 08077	WASHINGTON CROSSING, PA 18977
CONTACT	FRANK MARUCCI, JR.	ERNEST E. RENDA	CHESTER J. OTTINGER, JR.	MARK FAGERSTEN	JEFFREY MAZUR	LISA S. BALLEIMI	KEVIN J. LOFTUS	MARK E. STITZ
TELEPHONE	973 744 8383	908 534 2131	856 451 5300	973 300 4709	973 403 1120	973 478 5200	856 786 6607	215 493 0205
FAX	973 746 5898	908 534 5071	856 455 3461	973 300 4761	973 403 0265	973 478 7604	856 786 6641	215 493 6536
E-MAIL	MAR9400@COMCAST.NET	RENCOR@RENCORINC.NET	BWIDRICK@SOUTHSTATEINC.COM	MFAGERSTEN@SPARWICK.COM	MRCL123B@AOL.COM	LSANTAITE@MONTANACONSTRUCTIO NINC.COM	KLOFTUS@LOFTUSCONSTRUCTION.COM	MSTITZ@COSSINGCONST.COM
INSURANCE REQUIRED FROM AWARDED VENDOR								
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
BID GUARANTEE	FIDELITY & DEPOSIT COMPANY OF MARYLAND 10% NTE 20K	HARTFORD CASUALTY INSURANCE COMPANY 10% NTE 20K	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% NTE 20K	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% NTE 20K	TRAVELERS CASUALTY AND SURETY COMPANY OF AMERICA 10% NTE 20K	GREAT AMERICAN INSURANCE COMPANY 10% NTE 20K	WESTERN SURETY COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K
CONSENT OF SURETY	ANTHONY L. PAOLAZZI AIF WITH POA	LISA NOSAL AIF WITH POA	CHESTER J. OTTINGER, JR. AIF WITH POA	KATHLEEN M. CRISTIANO AIF WITH POA	GLENN GLUBIAK AIF WITH POA	DONNA J. BORNEMANN AIF WITH POA	CHARLES MCCABE AIF WITH POA	NEIL C. DONOVAN AIF WITH POA
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	OK	OK	OK	OK
EXHIBIT B	OK	OK	OK	OK	OK	OK	REQUIRED IF AWARDED	REQUIRED IF AWARDED
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
EXECUTIVE ORDER 98-1	OK	OK	OK	OK	OK	OK	OK	OK
PW CONTRACTOR REG.	607153 EXPIRES 6/13/14	605214 EXPIRES 5/8/15	51407 EXPIRES 4/10/14	611110 EXPIRES 11/12/14	674353 EXPIRES 12/2/13	61752 EXPIRES 5/5/14	618584 EXPIRES 12/10/14	REQUIRED IF AWARDED; 632586 EXPIRES 9/11/15
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK	OK	REQUIRED IF AWARDED
DEBARRED	NO	NO	NO	NO	NO	NO	NO	NO
SAFETY CERT	OK	OK	OK	OK	OK	OK	OK	OK
STRUCTURAL STEEL SUB	IN-HOUSE	ARCHER STEEL CONSTRUCTION CO., INC., PW 60274 EXPIRES 5/23/14, BRC OK	PHOENIX REBAR, LLC., PW 673240 EXPIRES 9/24/13, BRC OK	IN-HOUSE	IN-HOUSE	IN-HOUSE	IN-HOUSE	T LINDSTROM AND CO.; PW REQUIRED IF AWARDED; 605961 EXPIRES 9/11/14, BRC REQUIRED
FIVE YEARS EXPERIENCE AND THREE REFERENCES	INCLUDED, SUNNY TO CHECK	INCLUDED, SUNNY TO CHECK	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUIPMENT CERT	OK	OK	OK	OK	OK	OK	OK	OK
GRAND TOTAL	#REF!	#REF!	#REF!	#REF!	#REF!	#REF!	#REF!	#REF!
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	YES	WILL HOLD UP TO 60 DAYS AND MAY AGREE TO LONGER
EXCEPTIONS	NONE	NONE	NONE	NONE	NOT REFERENCED	NONE	NONE	NONE
FATAL FLAW	NO	NO	NO	NO	NO	NO	NO	NO

BID RESULTS
AB2013-41 SOCCER FIELD IMPROVEMENTS
BID OPENING: AUGUST 27, 2013

CANCELLED

1 MOBILIZATION 1 MOBILIZATION 1 MOBILIZATION 2 CONSTRUCTIO 3 SLI FENCE 4 FLOATING TURE 5 SEDIMENT CON 6 CONSTRUCTIO 6 CONSTRUCTIO 7 CONCRETE W 8 OIL CONSTRUCTIO 10 CONSTRUCTIO 11 FUEL PRICE AD 11 CONSTRUCTIO 12 FUEL PRICE AD 13 CLEARING STE 14 EXCAVATION. 15 EXCAVATION. 16 REMOVAL OF 1 17 SOIL ESTING PI 17 SOIL ESTING PI 18 DISPOSAL OF A 19 SOIL TESTING PI 19 SOIL TESTING PI 20 LESTING PI 21 DINNE: GRADE 21 DINNE: GRADE 22 COARSE AGGI 33 HAY MILLING. 44 HOT MIX ASPH- 45 HOT MIX ASPH- 46 RIPRAP STE 27 HIS CONTROLLED 28 REAM GUIDE 29 REAM GUIDE 21 FROM STE 21 FREE REMOVAL 31 TREE REMOVAL 31 TREE REMOVAL 31 TOPSOILING, 6 36 FERTILLING AN 31 TOPSOILING, 6 37 TOPSOIL STABIL 31 TOPSOILING, 6 37 TOPSOIL STABIL 31 TOPSOILING, 6 38 FERNANNIT S 39 CLEARING STE 30 CONCRETE FOR 31 TREE FURN 41 TEST PILE FURN 42 TEST PILE FURN 43 TEST PILE FURN 44 TEST PILE FURN 45 CONCRETE FOR 46 CONCRETE FOR 47 CONCRETE FOR 47 TEST PILE FURN 48 CONCRETE FOR 48 CONCRETE FOR 49 CONCRETE FOR 49 CONCRETE FOR 41 TEST PILE FURN 41 T	DN LAYOUT RBIDITY BARRIER, TYPE 2			MA	RBRO						4 5		6		7		8		
1 MOBILIZATION 1 MOBILIZATION 1 MOBILIZATION 2 CONSTRUCTIO 3 SLI FENCE 4 FLOATING TURE 5 SEDIMENT CON 6 CONSTRUCTIO 6 CONSTRUCTIO 7 CONCRETE W 8 OIL CONSTRUCTIO 10 CONSTRUCTIO 11 FUEL PRICE AD 11 CONSTRUCTIO 12 FUEL PRICE AD 13 CLEARING STE 14 EXCAVATION. 15 EXCAVATION. 16 REMOVAL OF 1 17 SOIL ESTING PI 17 SOIL ESTING PI 18 DISPOSAL OF A 19 SOIL TESTING PI 19 SOIL TESTING PI 20 LESTING PI 21 DINNE: GRADE 21 DINNE: GRADE 22 COARSE AGGI 33 HAY MILLING. 44 HOT MIX ASPH- 45 HOT MIX ASPH- 46 RIPRAP STE 27 HIS CONTROLLED 28 REAM GUIDE 29 REAM GUIDE 21 FROM STE 21 FREE REMOVAL 31 TREE REMOVAL 31 TREE REMOVAL 31 TOPSOILING, 6 36 FERTILLING AN 31 TOPSOILING, 6 37 TOPSOIL STABIL 31 TOPSOILING, 6 37 TOPSOIL STABIL 31 TOPSOILING, 6 38 FERNANNIT S 39 CLEARING STE 30 CONCRETE FOR 31 TREE FURN 41 TEST PILE FURN 42 TEST PILE FURN 43 TEST PILE FURN 44 TEST PILE FURN 45 CONCRETE FOR 46 CONCRETE FOR 47 CONCRETE FOR 47 TEST PILE FURN 48 CONCRETE FOR 48 CONCRETE FOR 49 CONCRETE FOR 49 CONCRETE FOR 41 TEST PILE FURN 41 T	k to be completed in: 270 Calendar Days Description ROADWAY N NIAYOUT RBIDITY BARRIER, TYPE 2			MF	KRKO	RENCOR		course	CTATE	cn.	RWICK		norr.		174414		7110	ono	rent o
1 MOBILIZATION 1 MOBILIZATION 1 MOBILIZATION 2 CONSTRUCTIO 3 SLI FENCE 4 FLOATING TURE 5 SEDIMENT CON 6 CONSTRUCTIO 6 CONSTRUCTIO 7 CONCRETE W 8 OIL CONSTRUCTIO 10 CONSTRUCTIO 11 FUEL PRICE AD 11 CONSTRUCTIO 12 FUEL PRICE AD 13 CLEARING STE 14 EXCAVATION. 15 EXCAVATION. 16 REMOVAL OF 1 17 SOIL ESTING PI 17 SOIL ESTING PI 18 DISPOSAL OF A 19 SOIL TESTING PI 19 SOIL TESTING PI 20 LESTING PI 21 DINNE: GRADE 21 DINNE: GRADE 22 COARSE AGGI 33 HAY MILLING. 44 HOT MIX ASPH- 45 HOT MIX ASPH- 46 RIPRAP STE 27 HIS CONTROLLED 28 REAM GUIDE 29 REAM GUIDE 21 FROM STE 21 FREE REMOVAL 31 TREE REMOVAL 31 TREE REMOVAL 31 TOPSOILING, 6 36 FERTILLING AN 31 TOPSOILING, 6 37 TOPSOIL STABIL 31 TOPSOILING, 6 37 TOPSOIL STABIL 31 TOPSOILING, 6 38 FERNANNIT S 39 CLEARING STE 30 CONCRETE FOR 31 TREE FURN 41 TEST PILE FURN 42 TEST PILE FURN 43 TEST PILE FURN 44 TEST PILE FURN 45 CONCRETE FOR 46 CONCRETE FOR 47 CONCRETE FOR 47 TEST PILE FURN 48 CONCRETE FOR 48 CONCRETE FOR 49 CONCRETE FOR 49 CONCRETE FOR 41 TEST PILE FURN 41 T	Description ROADWAY N ON LAYOUT RBIDITY BARRIER, TYPE 2					REP	NCOR	SOUTH	SIAIE	SPA	RWICK	MUG	ROSE	MOI	NTANA	LOI	ius	CRO	SSING
2 CONSTRUCTION 3 SUFFERS 4 ROATING TURE 4 ROATING TURE 5 SEDMENT CO. OF 6 CONSTRUCTION 7 CONCRETE WW. 9 BEBAKAMAY B. 10 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 12 CONSTRUCTION 13 CLEARING SITE 14 EXCAVATION, 15 EXCAVATION, 16 EXMONAL OF IT 16 SOLI SAMPLING 17 SOLI SAMPLING 18 DISPOSAL OF IT 17 SOLI SAMPLING 19 SOLI SAMPLING 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 12 CONSTRUCTION 12 SOLI SAMPLING 12 INSTRUCTION 14 INSTRUCTION 15 SOLI SAMPLING 16 INSTRUCTION 16 INSTRUCTION 17 INSTRUCTION 17 INSTRUCTION 18 INSTRUC	ROADWAY N ON LAYOUT RBIDITY BARRIER, TYPE 2			\$2,01	7,117.00	\$2,32	9,148.15	\$2,582,8	339.64	\$2,82	0,138.00	\$2,825	,596.00	\$2,886	0,000.00	\$2,929	,000.00	\$3,443,339.00	
2 CONSTRUCTION 3 SUFFERS 4 ROATING TURE 4 ROATING TURE 5 SEDMENT CO. OF 6 CONSTRUCTION 7 CONCRETE WW. 9 BEBAKAMAY B. 10 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 12 CONSTRUCTION 13 CLEARING SITE 14 EXCAVATION, 15 EXCAVATION, 16 EXMONAL OF IT 16 SOLI SAMPLING 17 SOLI SAMPLING 18 DISPOSAL OF IT 17 SOLI SAMPLING 19 SOLI SAMPLING 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 10 INSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 12 CONSTRUCTION 12 SOLI SAMPLING 12 INSTRUCTION 14 INSTRUCTION 15 SOLI SAMPLING 16 INSTRUCTION 16 INSTRUCTION 17 INSTRUCTION 17 INSTRUCTION 18 INSTRUC	n On Layout Rbidity Barrier, Type 2	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price E	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
3 SIL FARING 5 SEDIMENT CONSTRUCTION 5 SEDIMENT CON 6 CONSTRUCTION 7 CONCRETE W/8 8 OIL ONLY THE PRICE AND THE PRI	RBIDITY BARRIER, TYPE 2	LS	1 1	\$159,556.49	\$159.556.49	\$230,000.00	\$230,000.00	\$258,000.00	\$258,000.00	\$295,000.00	\$295,000.00	\$280,000.00	\$280,000.00	\$269,926.00	\$269,926.00	\$140,000.00	\$140,000.00	\$340,000.00	\$340,000.00
4 FLOATING TURNS 5 SEDMENT OF STREET 5 SEDMENT OF STREET 6 CONCRETE WAY 7 COMCRETE WAY 8 BEAKAWAY B. 9 BEAKAWAY B. 10 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 13 CLEARING STREET 14 EKCAVATION. 15 EXCAVATION. 16 REMOVAL OF IR 17 SOLI SAMPLING 18 DISPOSAL OF A 18 DISPOSAL OF A 19 SOLI ESTING PR 19 SOLI ESTING PR 19 SOLI ESTING PR 19 SOLI ESTING PR 10 INSTRUCTION 10 PS DIA RAMPLING 11 PRAPE STREET 12 COMPARE AND STREET 13 TRAFFIC STREET 14 TRAFFIC STREET 15 TRAFFIC STREET 16 TRAFFIC STREET 17 TRAFFIC STREET 18 TRAFFIC STREET 18 TRAFFIC STREET 18 TRAFFIC STREET 19 TO CONCRETE STREET 19 CONCRETE STREET 19 CONCRETE STREET 10 CONCRETE STREET 10 CONCRETE STREET 10 CONCRETE STREET 11 TRAFFIC STREET 11 TRAFFIC STREET 11 TRAFFIC STREET 11 TRAFFIC STREET 12 TRAFFIC STREET 12 TRAFFIC STREET 14 TRAFFIC STREET 15 TRAFFIC STREET 16 TRAFFIC STREET 17 TRAFFIC STREET 17 TRAFFIC STREET 18 TRAFFI		LS	1	\$12,500.00	\$12,500.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00	\$31,112.00	\$31,112.00	\$9,242.00	\$9,242.00	\$40,000.00	\$40,000.00
5 SEDIMENT CON		LF LF	966 187	\$3.50 \$15.00	\$3,381.00 \$2,805.00	\$4.00 \$20.00	\$3,864.00 \$3,740.00	\$5.00 \$27.00	\$4,830.00 \$5,049.00	\$1.50 \$14.00	\$1,449.00 \$2,618.00	\$5.00 \$50.00	\$4,830.00 \$9,350.00	\$5.00 \$17.00	\$4,830.00 \$3,179.00	\$6.00 \$25.00	\$5,796.00 \$4,675.00	\$10.00 \$22.00	\$9,660.00 \$4,114.00
7 CONCRETE W.		U	2	\$15.00	\$2,805.00	\$20.00	\$3,740.00	\$500.00	\$5,049.00	\$14.00	\$2,618.00	\$1,000.00	\$9,350.00	\$62.00	\$3,179.00	\$25.00	\$4,675.00	\$1,600.00	\$4,114.00
B CONSTRUCTION		T	106	\$20.00	\$2,120.00	\$1.00	\$106.00	\$0.01	\$1.06	\$15.00	\$1,590.00	\$100.00	\$10,600.00	\$33.50	\$3,551.00	\$60.00	\$6,360.00	\$80.00	\$8,480.00
9 BREAKAWAY RIO 10 CONSTRUCTION 11 CONSTRUCTION 11 CONSTRUCTION 12 FUEL PRICE AD 13 CLEARING SITE 14 EXCAVATION, 1 15 ERCAVATION, 1 16 REMOVAL OF 1 17 SOIL SAMPLING 18 DISPOSAL OF 1 18 DISPOSAL OF 1 19 DISPOSAL	ASHOUT SYSTEM	LS	1	\$2,500.00		\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,733.00	\$3,733.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00
10		U	8	\$0.01 \$100.00	\$0.03 \$800.00	\$100.00 \$90.00	\$300.00 \$720.00	\$50.00 \$0.01	\$150.00 \$0.08	\$250.00 \$35.00	\$750.00 \$280.00	\$1,000.00 \$100.00	\$3,000.00	\$3,111.00 \$112.00	\$9,333.00 \$896.00	\$300.00 \$50.00	\$900.00 \$400.00	\$1,000.00 \$100.00	\$3,000.00 \$800.00
12 FULL PRICE AD	ON SIGNS	SF	333	\$12.00	\$3,996.00	\$10.00	\$3,330.00	\$10.00	\$3,330.00	\$10.00	\$3,330.00	\$20.00	\$6,660.00	\$18.50	\$6,160.50	\$11.00	\$3,663.00	\$15.00	\$4,995.00
13	ON BARRIER CURB	LF	80	\$10.00	\$800.00	\$25.00	\$2,000.00	\$10.00	\$800.00	\$40.00	\$3,200.00	\$100.00	\$8,000.00	\$67.50	\$5,400.00	\$30.00	\$2,400.00	\$125.00	\$10,000.00
14 EXCAVATION.		LS LS	1	\$1,000.00 \$25,000.00	\$1,000.00	\$1,000.00 \$127.525.00	\$1,000.00 \$127.525.00	\$1,000.00	\$1,000.00 \$15.000.00	\$1,000.00 \$25.000.00	\$1,000.00 \$25.000.00	\$1,000.00 \$25.000.00	\$1,000.00 \$25.000.00	\$1,000.00 \$17.848.00	\$1,000.00 \$17.848.00	\$1,000.00 \$40.000.00	\$1,000.00 \$40.000.00	\$1,000.00 \$35.000.00	\$1,000.00
15	I, UNCLASSIFIED	CA	1570	\$25,000.00	\$25,000.00 \$39,250.00	\$127,525.00 \$10.00	\$127,525.00 \$15,700.00	\$15,000.00 \$25.00	\$15,000.00 \$39,250.00	\$25,000.00	\$25,000.00 \$47,100.00	\$25,000.00	\$25,000.00	\$17,848.00	\$17,848.00	\$40,000.00	\$40,000.00 \$75,360.00	\$35,000.00 \$45.00	\$35,000.00 \$70,650.00
17 SOIL SAMPLING	, ACID PRODUCING SOIL	CY	100	\$0.01	\$1.00	\$10.00	\$1,000.00	\$20.00	\$2,000.00	\$32.00	\$3,200.00	\$35.00	\$3,500.00	\$30.50	\$3,050.00	\$40.00	\$4,000.00	\$15.00	\$1,500.00
8 SSPCSAL CF		SY	1382	\$16.50		\$1.00	\$1,382.00	\$5.00	\$6,910.00	\$19.00	\$26,258.00	\$15.00	\$20,730.00	\$9.95	\$13,750.90	\$15.00	\$20,730.00	\$20.00	\$27,640.00
19 SOIL TESTING P	IG AND ANALYSES, ACID PRODUCING SOIL ACID PRODUCING SOIL	U	100	\$0.01 \$0.01	\$0.06 \$1.00	\$50.00 \$10.00	\$300.00 \$1,000.00	\$250.00 \$20.00	\$1,500.00 \$2,000.00	\$400.00 \$30.00	\$2,400.00 \$3,000.00	\$500.00 \$25.00	\$3,000.00 \$2,500.00	\$1,941.00 \$33.50	\$11,646.00 \$3,350.00	\$500.00 \$30.00	\$3,000.00 \$3,000.00	\$1,000.00 \$50.00	\$6,000.00 \$5,000.00
10 10 10 10 10 10 10 10		ALLOWANCE	. 1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2 COARSE AGG		CY	194	\$50.00	\$9,700.00	\$20.00	\$3,880.00	\$70.00	\$13,580.00	\$45.00	\$8,730.00	\$50.00	\$9,700.00	\$42.50	\$8,245.00	\$100.00	\$19,400.00	\$65.00	\$12,610.00
3	ED AGGREGATE BASE COURSE, 8" THICK	SY	1337	\$12.00		\$8.00	\$10,696.00	\$10.00	\$13,370.00	\$8.00	\$10,696.00	\$10.00	\$13,370.00	\$13.50	\$18,049.50	\$15.00	\$20,055.00	\$16.00	\$21,392.00
24		CY SY	100 231	\$20.00 \$20.00	\$2,000.00 \$4.620.00	\$20.00 \$15.00	\$2,000.00 \$3,465.00	\$0.01 \$11.00	\$1.00 \$2.541.00	\$40.00 \$52.00	\$4,000.00 \$12,012.00	\$50.00 \$15.00	\$5,000.00 \$3.465.00	\$48.00 \$54.00	\$4,800.00 \$12,474.00	\$48.00 \$50.00	\$4,800.00 \$11,550.00	\$85.00 \$40.00	\$8,500.00 \$9,240.00
PRIMAR STONE	HALT 9.5 M 64 SURFACE COURSE	T	190	\$110.00	\$20,900.00	\$138.00	\$26,220.00	\$113.00	\$21,470.00	\$110.00	\$20,900.00	\$100.00	\$19,000.00	\$190.00	\$36,100.00	\$150.00	\$28,500.00	\$125.00	\$23,750.00
27	HALT 19 M 64 BASE COURSE	T	642	\$87.00	\$55,854.00	\$103.00	\$66,126.00	\$86.00	\$55,212.00	\$106.00	\$68,052.00	\$100.00	\$64,200.00	\$122.00	\$78,324.00	\$120.00	\$77,040.00	\$93.00	\$59,706.00
28 9 x 18" CONC. 29 BEAM GUIDE R 31 TRAFFIC SIRPE 31 TRAFFIC SIRPE 33 TREE REMOVAL 33 TREE REMOVAL 35 TOPSOLITING 6' 6 6 FERTILIZATION 10 FOR SIRPE 10 FOR SIRPE 10 FOR SIRPE 10 FOR SIRPE 11 FOR SIRPE 12 FERMANENT C 12 FERMANENT C 13 FERTILIZATION 15 FILE FILE 14 TEST PILE FILE 15 FILE FILE 16 CAST-IN-PLACE 17 REINFORCEMER 18 FOR SIRPE 19 FOR SIRPE 19 FOR SIRPE 10 FOR SIRPE 11 FOR SIRPE 11 FOR SIRPE 11 FOR SIRPE 12 FOR SIRPE 11 FOR SIRPE 12 FOR SIRPE 12 FOR SIRPE 13 FOR SIRPE 14 FOR SIRPE 15 FOR SIRPE 15 FOR SIRPE 16 FOR SIRPE 17 FOR SIRPE 17 FOR SIRPE 17 FOR SIRPE 17 FOR SIRPE 18 F	E SLOPE PROTECTION, 48" THICK (D50 = 24")	SY	204	\$107.00 \$20.00	\$21,828.00 \$520.00	\$75.00 \$130.00	\$15,300.00 \$3,380.00	\$85.00 \$71.00	\$17,340.00 \$1,846.00	\$50.00	\$10,200.00 \$676.00	\$200.00 \$100.00	\$40,800.00 \$2,600.00	\$113.00 \$93.50	\$23,052.00 \$2,431.00	\$125.00 \$25.00	\$25,500.00	\$130.00 \$40.00	\$26,520.00
29 BEAM GUIDE 1	CRETE VERTICAL CURB	LF	26 141	\$20.00 \$36.00	\$5,076.00	\$130.00 \$15.00	\$3,380.00	\$50.00	\$1,846.00	\$26.00 \$22.00	\$3,102.00	\$100.00 \$50.00	\$7,050.00	\$93.50 \$31.00	\$2,431.00 \$4,371.00	\$25.00 \$30.00	\$4,230.00	\$40.00 \$70.00	\$1,040.00 \$9,870.00
11		LF	726	\$20.00	\$14,520.00	\$20.00	\$14,520.00	\$20.00	\$14,520.00	\$20.00	\$14,520.00	\$30.00	\$21,780.00	\$25.00	\$18,150.00	\$22.00	\$15,972.00	\$21.00	\$15,246.00
32	E RAIL TERMINAL	U	4	\$1,850.00	\$7,400.00	\$1,850.00	\$7,400.00	\$1,800.00	\$7,200.00	\$1,900.00	\$7,600.00	\$2,500.00	\$10,000.00	\$2,302.00	\$9,208.00	\$2,400.00	\$9,600.00	\$3,000.00	\$12,000.00
33 BER REMOVAL 35 TOPSOLING, 6: 36 FERRILAYING, 36 37 TOPSOLING, 6: 38 STRAW MULCH 39 CLEARING, 51 41 PERMANENT C. 42 PERMANENT C. 43 TEST PILE, FURN 44 TEST PILE, FURN 45 CAST-IN-PLACE 46 AST-IN-PLACE 47 REIN-PLACE 48 CONCRETE FO 49 CONCRETE FO 50 CONCRETE FO	PES, LONG LIFE, EPOXY RESIN 4"	LF SF	2640 91	\$1.00 \$26.00	\$2,640.00 \$2,366.00	\$0.90	\$2,376.00 \$2,366.00	\$1.00	\$2,640.00 \$2,275.00	\$0.75	\$1,980.00 \$2,275.00	\$2.00	\$5,280.00 \$4.550.00	\$1.85 \$33.50	\$4,884.00 \$3.048.50	\$1.00 \$30.00	\$2,640.00 \$2,730.00	\$0.90 \$35.00	\$2,376.00
THE REMOVAL	AL, OVER 6" TO 12" DIAMETER	SF	6	\$26.00	\$2,366.00	\$26.00 \$700.00	\$4,200.00	\$25.00 \$750.00	\$2,275.00	\$25.00 \$725.00	\$4,350.00	\$50.00 \$250.00	\$1,500.00	\$33.50	\$5,226.00	\$30.00	\$5,400.00	\$35.00	\$3,185.00 \$3,000.00
36 FERILIZING AN 37 TOPPOU STABLE 39 CLEARING SITE 40 COARSE AGGI 41 PERMANENT SI 43 TEST PILE, DRIVI 44 TEST PILE, DRIVI 45 CAST-IN-PIA-CE 46 CAST-IN-PIA-CE 47 REINFORCEME 48 CONCRETE OIL 50 COMCRETE AG 51 EPOXY WATER	AL, OVER 18" TO 24" DIAMETER	Ü	1	\$1,000.00	\$1,000.00	\$975.00	\$975.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,213.00	\$1,213.00	\$1,050.00	\$1,050.00	\$1,000.00	\$1,000.00
37 TOPSOIL STABIL 38 STRAW MULCH 39 CLEARING STIE 40 COARSE AGGS 41 PERMANENT SI- 42 PERMANENT SI- 43 TEST PILE DRIVIVI 44 TEST PILE DRIVIVI 45 CAST-IN-PIA-CE 46 CAST-IN-PIA-CE 47 REINFORCEME 48 CONCRETE WII 49 CONCRETE WII 51 EPOXY WATER		SY	857	\$5.00		\$7.00	\$5,999.00	\$5.00	\$4,285.00	\$7.00	\$5,999.00	\$5.00	\$4,285.00	\$8.70	\$7,455.90	\$8.00	\$6,856.00	\$10.00	\$8,570.00
38 STRAW MULCH 39 CLEARING STE 40 COARSE AGGI 41 PERMANENT C 42 PERMANENT C 43 TEST PILE, FURN 44 TEST PILE, DRIVIV 45 CASTI-NPI-ACE 46 CASTI-NPI-ACE 47 REINFORCEME 48 CONCRETE FOR 49 CONCRETE WII 51 EPOXY WATER	ND SEEDING, TYPE 4-3	SY	857 332	\$1.00 \$5.00		\$0.50 \$5.00	\$428.50 \$1.660.00	\$1.00 \$4.00	\$857.00 \$1.328.00	\$1.00 \$5.00	\$857.00 \$1.660.00	\$1.00 \$5.00	\$857.00 \$1.660.00	\$0.60 \$6.20	\$514.20 \$2.058.40	\$1.00 \$6.00	\$857.00 \$1,992.00	\$3.00 \$6.00	\$2,571.00 \$1,992.00
40 COARSE AGGI 41 PERMANENT C: 42 PERMANENT S: 43 TEST PILE, FURN 44 TEST PILE, FURN 45 CAST-IN-PLACE 46 CAST-IN-PLACE 47 REINFORCEMEI 48 CONCRETE FO CONCRETE FO CONCRETE AB 51 EPOXY WATER		SY	857	\$1.00		\$0.50	\$428.50	\$1.00	\$1,328.00	\$1.00	\$857.00	\$1.00	\$857.00	\$0.60	\$2,058.40	\$1.00	\$857.00	\$5.00	\$4,285.00
40 COARSE AGGI 41 PERMANENT C: 42 PERMANENT S: 43 TEST PILE, FURN 44 TEST PILE, FURN 45 CAST-IN-PLACE 46 CAST-IN-PLACE 47 REINFORCEMEI 48 CONCRETE FO CONCRETE FO CONCRETE AB 51 EPOXY WATER	BRIDGE	-								•									
41 PERMANENT C 42 PERMANENT S1 43 TEST PILE, FURN 44 TEST PILE, DRIVY 45 CAST-IN-PLACE 46 CAST-IN-PLACE 47 REINFORCEMEI 48 CONCRETE WI 49 CONCRETE WI 50 CONCRETE AB 51 EPOXY WATER	E, BRIDGE (860.1)	LS	1	\$60,000.00	\$60,000.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00	\$195,000.00	\$195,000.00	\$150,000.00	\$150,000.00	\$122,896.00 \$48.00	\$122,896.00 \$1,584.00	\$140,000.00	\$140,000.00	\$140,000.00	\$140,000.00
42 PERMANENT SI 43 TEST PILE, FURN 44 TEST PILE, DRIVY 45 CAST-IN-PLACE 47 REINFORCEMEI 48 CONCRETE FO 49 CONCRETE WILL 50 CONCRETE AB 51 EPOXY WATER!	GREGATE LAYER (#57 STONE) COFFERDAM	CY LS	33 1	\$27.00 \$300,000.00	\$891.00 \$300,000.00	\$150.00 \$347,000.00	\$4,950.00 \$347,000.00	\$100.00 \$381,000.00	\$3,300.00 \$381,000.00	\$50.00 \$687,000.00	\$1,650.00 \$687,000.00	\$100.00 \$500,000.00	\$3,300.00 \$500,000.00	\$48.00 \$83,350.00	\$1,584.00 \$83,350.00	\$140.00 \$215,000.00	\$4,620.00 \$215,000.00	\$70.00 \$355,000.00	\$2,310.00 \$355,000.00
44 TEST PILE, DRIVI 45 CAST-IN-PLACE 46 CAST-IN-PLACE 47 REINFORCEMEI 48 CONCRETE FO 49 CONCRETE AB 50 CONCRETE AB 51 EPOXY WATERF		SF	2540	\$0.01	\$25.40	\$1.00	\$2,540.00	\$31.00	\$78,740.00	\$1.00	\$2,540.00	\$35.00	\$88,900.00	\$36.00	\$91,440.00	\$40.00	\$101,600.00	\$45.00	\$114,300.00
45 CAST-IN-PLACE 46 CAST-IN-PLACE 47 REINFORCEME! 48 CONCRETE FO 49 CONCRETE WII 50 CONCRETE AB 51 EPOXY WATERF		LF	418	\$30.00	\$12,540.00	\$42.00	\$17,556.00	\$40.00	\$16,720.00	\$40.00	\$16,720.00	\$25.00	\$10,450.00	\$52.50	\$21,945.00	\$50.00	\$20,900.00	\$50.00	\$20,900.00
46 CAST-IN-PLACE 47 REINFORCEMEI 48 CONCRETE FO 49 CONCRETE WII 50 CONCRETE AB 51 EPOXY WATERF	VEN CE CONCRETE PILE, FURNISHED, 12° DIAMETER	LF LF	418 6131	\$30.00 \$28.00	\$12,540.00 \$171.668.00	\$0.10 \$42.00	\$41.80 \$257,502.00	\$65.00 \$40.00	\$27,170.00 \$245.240.00	\$100.00 \$40.00	\$41,800.00 \$245.240.00	\$25.00 \$25.00	\$10,450.00 \$153.275.00	\$131.00 \$52.50	\$54,758.00 \$321,877.50	\$100.00 \$50.00	\$41,800.00 \$306.550.00	\$100.00 \$50.00	\$41,800.00 \$306.550.00
47 REINFORCEMEI 48 CONCRETE FO 49 CONCRETE WII 50 CONCRETE AB 51 EPOXY WATERF	CE CONCRETE PILE, FURNISHED, 12 DIAMETER CE CONCRETE PILE, DRIVEN, 12" DIAMETER	LF	6131	\$28.00	\$171,668.00	\$42.00	\$257,502.00	\$40.00	\$245,240.00	\$40.00	\$245,240.00	\$25.00	\$153,275.00	\$30.00	\$321,877.50	\$40.00	\$245,240.00	\$50.00	\$306,550.00
49 CONCRETE WIR 50 CONCRETE AB 51 EPOXY WATER	ENT STEEL, EPOXY-COATED	LB	88000	\$1.85	\$162,800.00	\$1.41	\$124,080.00	\$1.40	\$123,200.00	\$1.85	\$162,800.00	\$2.00	\$176,000.00	\$2.10	\$184,800.00	\$1.75	\$154,000.00	\$1.25	\$110,000.00
50 CONCRETE AB 51 EPOXY WATER		CY	182	\$325.00	\$59,150.00	\$175.00	\$31,850.00	\$400.00	\$72,800.00	\$250.00	\$45,500.00	\$500.00	\$91,000.00	\$478.00	\$86,996.00	\$310.00	\$56,420.00	\$450.00	\$81,900.00
51 EPOXY WATER		CY	65 215	\$750.00 \$500.00	\$48,750.00 \$107,500.00	\$220.00 \$190.00	\$14,300.00 \$40,850.00	\$500.00 \$500.00	\$32,500.00 \$107.500.00	\$350.00 \$250.00	\$22,750.00 \$53,750.00	\$750.00 \$750.00	\$48,750.00 \$161,250.00	\$1,177.00 \$913.00	\$76,505.00 \$196,295.00	\$900.00 \$650.00	\$58,500.00 \$139,750.00	\$1,100.00 \$680.00	\$71,500.00 \$146.200.00
		SY	46	\$500.00	\$107,500.00	\$190.00	\$40,850.00	\$40.00	\$107,500.00	\$250.00	\$1,840.00	\$750.00	\$2,300.00	\$913.00	\$196,295.00	\$140.00	\$6,440.00	\$680.00	\$146,200.00
		LS	1	\$275,000.00	\$275,000.00	\$515,000.00	\$515,000.00	\$385,000.00	\$385,000.00	\$315,000.00	\$315,000.00	\$325,000.00	\$325,000.00	\$336,741.20	\$336,741.20	\$529,000.00	\$529,000.00	\$400,000.00	\$400,000.00
	RPROOFING STEEL (APPROX. 112,300 LBS)	U	18	\$1,000.00		\$1,550.00	\$27,900.00	\$650.00	\$11,700.00	\$2,150.00	\$38,700.00	\$2,000.00	\$36,000.00	\$2,020.00	\$36,360.00	\$2,000.00	\$36,000.00	\$1,200.00	\$21,600.00
	RPROOFING STEEL (APPROX. 112,300 LBS) ELASTOMERIC BEARING ASSEMBLY	U LF	2187 103	\$6.00 \$275.00	\$13,122.00 \$28,325.00	\$3.75 \$168.00	\$8,201.25 \$17,304.00	\$4.50 \$186.00	\$9,841.50 \$19.158.00	\$6.00 \$200.00	\$13,122.00 \$20,600.00	\$6.00 \$200.00	\$13,122.00 \$20,600.00	\$5.60 \$263.00	\$12,247.20 \$27,089.00	\$5.00 \$280.00	\$10,935.00 \$28.840.00	\$6.00 \$300.00	\$13,122.00 \$30,900.00
	RPROOFING STEEL (APPROX. 112,300 LBS) ELASTOMERIC BEARING ASSEMBLY JECTOR, GALVANIZED		95	\$800.00	\$76,000.00	\$250.00	\$23,750.00	\$850.00	\$80,750.00	\$250.00	\$23,750.00	\$1,000.00	\$95,000.00	\$1,627.00	\$154,565.00	\$1,050.00	\$99,750.00	\$850.00	\$80,750.00
57 CONCRETE BRI	RPROOFING STEEL (APPROX. 112,300 LBS) ELASTOMERIC BEARING ASSEMBLY	CY		\$500.00	\$8,500.00	\$400.00	\$6,800.00	\$800.00	\$13,600.00	\$800.00	\$13,600.00	\$500.00	\$8,500.00	\$624.00	\$10,608.00	\$1,000.00	\$17,000.00	\$1,100.00	\$18,700.00
	RPROOFING STEEL (APPROX. 112,300 LBS) ELASTOMERIC BEARING ASSEMBLY JECTOR. GALVANIZED PANSION JOINT ASSEMBLY RIDGE DECK, HPC RIDGE SIDEWALK, HPC	CY	17													\$350.00	\$8,050,00	\$400.00	\$9,200.00
	RPROCEING STEEL (APPROX. 112,300 LBS) STEEL (APPROX. 112,3	CY LF	23	\$475.00	\$10,925.00	\$400.00	\$9,200.00	\$450.00	\$10,350.00	\$250.00	\$5,750.00	\$250.00	\$5,750.00	\$603.00	\$13,869.00				670.05
61 BRONZE STATU	RPROCEING STEEL (APPROX. 112.300 LBS) ELASTOMERIC BEARING ASSEMBLY ECCTOR, GALVANUED PANSION JOHN ASSEMBLY RIDGE BECK, HPC RIDGE SIDEWALK, HPC RIDGE PARAPET	CY LF LF	23 198	\$475.00 \$300.00	\$10,925.00 \$59,400.00	\$400.00 \$320.00 \$150.00	\$63,360.00	\$245.00	\$48,510.00	\$250.00 \$240.00 \$250.00	\$47,520.00	\$250.00	\$5,750.00 \$49,500.00 \$66,500.00	\$603.00 \$299.00 \$855.00	\$59,202.00	\$400.00	\$79,200.00	\$400.00	\$79,200.00 \$66,500.00
	RPROCISING SIELL (APPROX. 112,300 LBS) ELASTOMERIC BEARING ASSEMBLY ECTOR, GALVANIZED PANSION JOINT ASSEMBLY RIDGE DECK, IPC RIDGE SIDEWALK, IPC RIDGE SIDEWALK, IPC RIDGE PARAPET SIEL PARAPET SIEL PARAPET BIDGE APPROACH	CY LF	23	\$475.00	\$10,925.00	\$320.00				\$240.00			\$49,500.00	\$299.00					\$79,200.00 \$66,500.00 \$5,000.00

BID RESULTS AB2013-23B REBID NEW PLAZA AND SITE IMPROVEMENTS AT THE ICE SKATING RINK AT THE FESTIVAL GROUNDS AT MERCER COUNTY PARK AUGUST 30, 2013 Work will commence within Ten (10) Calendar Days after receipt of written "Notice to oceed" and be substantially completed by NOVEMBER 30, 2013. LD in the amount of \$1,000.00 per CD. NO. OF RESPONDENTS: **ESTIMATE** NAME OF BIDDER WATERS & BUGBEE, INC ADDRESS 75 SOUTH GOLD DRIVE CITY, STATE, ZIP HAMILTON, NJ 08691 CONTACT CHARLES P. WATERS TELEPHONE 609 584 1100 609 584 2200 F-MAII BIDS@WATERSANDBUGBEE.COM INSURANCE REQUIRED FROM AWARDED VENDOR REQUIRED IF AWARDED RECEIPT OF ADDENDUM NO. ONE SIGNED AND DATED RECEIPT OF ADDENDUM NO. TWO SIGNED AND DATED RECEIPT OF ADDENDUM NO. THREE SIGNED AND DATED BID GUARANTEE FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% NTE 20K ANNMARIE KEANE AIF WITH POA CONSENT OF SURETY REFERENCES AND EXPERIENCE INCLUDED PC TO CHECK PW CONTRACTOR REGISTRATION 60176 EXPIRES 4/14/14 DEBARRED NEW JERSEY BUSINESS REGISTRATION OK T.P BRYAN ELECTRIC COMPANY INC. PW 59900 EXPIRES ELECTRICAL SUBCONTRACTOR LICENSE PW & BRC 4/30/14; LICENSE 34EB00622200 EXPIRES 3/31/15; BRC OK COOPER PLUMBING AND MECHANICAL PW 628846 EXPIRES PLUMBING SUBCONTRACTOR LICENSE PW & BRC 1/27/15: LICENSE 36BI01079000 EXPIRES 6/30/15: BRC OK MASTER PLUMBING LICENSE: Plumbing contractors as LANSCAPE IRRIGATION LICENSE/CERTIFICATION defined in N.J.S.A. 45:14C-2 are exempt from obtaining Irrigation Cert. STOCKHOLDER DISCLOSURE OK EQUIPMENT CERT ОК EXECUTIVE ORDER 98-1 OK EXHIBIT B OK AA201 REQUIRED IF AWARDED SAFETY CERT OK BASE BID PAVING AND HARDSCAPE 260,552.50 340,670.18 LANDSCAPING, PLANTING AND RAIN GARDEN 58,400.00 87,064.67 PLAZA SITE LIGHTING 55,000.00 84,366.81 RAIN GARDEN LIGHTING 6,000.00 10,462.00 IRRIGATION SYSTEM 45 000 00 44 689 99 TOTAL BASE BID 424,952.50 567,253.65 GC AND OHP BASE BID 38,245.73 10% CONTINGENCY 46,319.82 PROJECT ESTIMATE WITH GENERAL CONDITIONS AND OH&PROFIT 509,518.05 ALTERNATE ONE: PROVIDE AND INSTALL FLAGPOLES AND IN-GROUND LIGHTING AT 15,600.00 18,707.20 THE ICE RINK PLAZA ALTERNATE TWO: PROVIDE AND INSTALL A TWO-FOOT WIDE PAVED EDGING AT THE WALKWAYS IN THE NEW ICE RINK PLAZA 44,000.00 21,813.33 TOTAL ALTERNATES 59,600.00 40,520.53 GRAND TOTAL WITH ALTERNATES 607,774.18 569,118.05 HOLD PRICING BEYOND 60 DAYS YES EXCEPTIONS NONE

NO

FATAL FLAW

REQUEST FOR QUALIFICATIONS RESULTS

RFQ2013-02 FOR WEBSITE DESIGN FOR THE COUNTY OF MERCER

CIVICA SOFTWARE 20101 SW BIRCH ST, #250 NEWPORT BEACH, CA 92660 ROBERT PINZEON 949 851 1600 X119 949 851 1930 BPINZTER@CIVICASOFT.COM SIGNED AND DATED INCLUDED INCLUDED OK OK OK REQUIRED IF AWARDED NONE MADE REQUIRED IF AWARDED YES YES INCLUDED REFERENCES WITHOUT COSTS

PROPOSALS OPENED: AUGUST 30, 2013

		PROPOSALS O	PENED: AUGUST 30, 2013			
COMMITTEE TO REVIEW QUALIFICATIONS AND EVALUATE BASED UPON CRITERIA, COMMITTEE TO SIGN CONFLICT STATEMENT, REQUEST PRESENTATIONS AND SHORT LIST FOR PROPOSALS; REVIEW ADDENDUM NO. ONE	NON-RESPONSIVE					
NUMBER OF RESPONDENTS	11					T
NAME	PRO SITE BUILDER, LLC	QSCEND TECHNOLOGIES INC.	ICON ENTERPRISES, INC., D/B/A CIVICPLUS	GROWTH TRANSITIONS, INC., D/B/A MAHER & MAHER	KESZ1 TECHNOLOGIES, LLC	
ADDRESS	670 PEACHTREE INDUSTRIAL BLVD., SUITE 100	231 BANK STREET	317 HOUSTON STREET, SUITE E	3535 ROUTE 66, BLDG. 4	685 BLOOMFIELD AVE., SUITE 204	
CITY, STATE, ZIP	SUWANEE, GA 30024	WATERBURY, CT 06702	MANHATTAN, KS 66502	NEPTUNE, NJ 07753	VERONA, NJ 07044	
CONTACT	MATTHEW OSBORNE	KEITH LEBEAU	JESSE MANNING	RICHARD D. MAHER	MICHAEL KESZLOWSKI	
TELEPHONE	770 828 6764	203 757 6000	888 228 2233	732 918 8000	973 786 1105	Π
FAX	678 889 1766	203 759 0519	785 587 8951	732 918 9059	201 221 8791	
E-MAIL	ADMIN@MATTHEWOSBORNE.COM	KEITH@QSCEND.COM	URBANO@CIVICPLUS.COM	RMAHER@MAHERNET.COM	MICHAEL@KESZ1.COM	П
ADDENDUM NO. ONE	NO	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
QUALIFICATION STATEMENT	INCLUDED RESUME	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
INSURANCE AND INDEMNIFICATION STATEMENT	DID NOT PROVIDE	OK	INCLUDED	INCLUDED	INCLUDED	П
NON COLLUSION AFFIDAVIT	DID NOT PROVIDE	OK	OK	OK	OK	
STOCKHOLDER DISCLOSURE	DID NOT PROVIDE	ОК	OK	OK	OK	T
NEW JERSEY BUSINESS REGISTRATION	DID NOT PROVIDE	OK	OK	REQUIRED IF AWARDED	OK	T
EXHIBIT A	DID NOT PROVIDE	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	OK	T
CERTIFICATION OF POLITICAL CONTRIBUTIONS	DID NOT PROVIDE	NONE MADE	NONE MADE	NONE MADE	NONE MADE	T
EIC	DID NOT PROVIDE	REQUIRED IF AWARDED	39151 EXPIRES 12/15/13	REQUIRED IF AWARDED	REQUIRED IF AWARDED	T
CONTINUITY OF OPERATION	DID NOT PROVIDE	DID NOT PROVIDE	YES	YES	YES	T
HOLD BEYOND 60 DAYS	DID NOT PROVIDE	YES	YES	YES	YES	
PROJECT REFERENCES WITH SIMILAR SCOPE AND COST	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	1
NAME	BROGAN TENNYSON GROUP, INC.	INFOREST COMMUNICATIONS	IKNOW LLC	GRAPHIC MATTER, INC.	VISION INTERNET PROVIDERS, INC.	
ADDRESS	2245 US HIGHWAY 130, SUITE 102	PO BOX 6709	100 OVERLOOK CENTER, 2ND FLOOR	601 ROUTE 206, SUITE 26-405	2530 WILSHIRE BLVD., 2ND FLOOR	
CITY, STATE, ZIP	DAYTON, NJ 08810	LAWRENCEVILLE, NJ 08648	PRINCETON, NJ 08540	HILLSBOROUGH, NJ 08844	SANTA MONICA, CA 90034	1
CONTACT	SHIRLENE SOOS	DANA C HUTCHINS	DR. BERNARD L. PALOWITCH, JR.	BEVERLY THOMAS	ADAM ISERN]
TELEPHONE	732 355 0700 X303	888 706 1380	732 742 3796	908 359 8760	913 660 0617]
FAX	732 907 1907	609 921 9223	609 419 0715	908 359 1414	310 656 3103	1
E-MAIL	SSOOS@BROGANTENNYSON.COM	DANA@INFOREST.COM	BPALOWITCH@IKNOW.US	BEV@GRAPHICMATTER.COM	AISERN@ VISIONINTERNET.COM	1
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	1
QUALIFICATION STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
INSURANCE AND INDEMNIFICATION STATEMENT	OK	OK	OK	OK	OK	_
NON COLLUSION AFFIDAVIT	OK	ОК	OK	OK	OK	
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	OK]
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	REQUIRED IF AWARDED	
EXHIBIT A	OK	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
CERTIFICATION OF POLITICAL CONTRIBUTIONS	NONE MADE	NONE MADE	NONE MADE	NONE MADE	NONE MADE	
EIC	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
CONTINUITY OF OPERATION	YES	YES	YES	YES	YES]
HOLD BEYOND 60 DAYS	YES	YES	YES	NO	YES	
PROJECT REFERENCES WITH SIMILAR SCOPE AND COST	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	Ī